WRITTEN BY

MD. RATUL HASAN (TURJU)

Senior English Lecturer
Admission & Job Program
Head of English Department
Aspect Series
Md. Zobear Alam

English Faculty
Writer: Aspect Series

Sanuwar Hossen

English Faculty
Writer, Aspect Series

Md. Bappy Hosen

Instructor English
Writer: Aspect Series

CO-WRITER

Md. Alahim Hosen

Editor, Aspect Series

Ehsan Habib (Dipto)

English Faculty, Aspect Series

Mahatab Dipu

Senior English Faculty

Md. Obeyed Hossain

Sirajul Islam
Editor, Aspect Series

English Faculty, Aspect Series

Md. F. Salman Rahman

University of Dhaka

Ahosan Habib

Senior English Faculty

Neamot Hossen
Senior English Faculty

Hasanuzzaman Hasan
Senior English Faculty

ml Shamsul Alam Mamun

MD HOSSEN ALI
Author, CHEMISTRY PLUS & Chief Editor, ASPECT SERIES

o CA3=I1<5

== ass siaeEac=s <=1

A@rrsrcﬁ >ifa

So03/9, RS, FINCAG, GBIt | e —
FFoT: 03A59 o ARD-Y

facebook.com/Aspectadmission

page :
aspectseries@gmail.com

e-mail:

@) 9roup : facebook.com/groups/aspectseries

2 www.edunetworkbd.com




DEDICATED TO

BELOVED FATHER)

MOMIN GOLDER

\\
\
.

e

VNI ISR @ THE NETWORK RESEARCH & PUBLICATIONS]

Publisher : Advocate Alfina kalam
Copyright : All rights reserved by the publisher
First Edition : January, 2022
Fourth Edition : September, 2024
Typesetter & Coverer Trio the zen design studio &
The network research & Publications
lilustrative cartoons Ratul Turju, Bappy, Murad
Project Team : English Champion
Price : 550.00 (Five Hundred Fifty Taka)
- - /I\CAUTION | - N

The copyright of this book and every part of it including the arrangements, illustrations, etc. are
exclusively reserved by the author and the copyright-holder. No part of the book can be printed
or published in a similar form or any distorted form without the prior written permission of the
author and the copyright- holder. Any infringement of the copyright in any form will be severely

dealt with legal action and make such persons liable to damage.
. J

www.aspectseriesbd.com S5 s 7w NIRRT i, Bt 8 i T91 o f{e

of¥ R @ GO TS (o1 SIS G IO TR SCR FACO

© facebook.com/aspectadmission www.aspectseriesbd.com 01976-466200

WA S0F 90T QAN 2 (4T COTE A1, THATEE, (STt @ 3R i, eyt ored SMS w2+

orr @ e St i T 0dabd Sdv wee(Payment) S@b e sfm e vet 7o &

) 2 FACT FIFICR AFS T 8T (ST |




Author’s Note

Dear Readers,

Welcome to the magical pages of my book,
where each word represents a new opportunity,
a new possibility. This journey of writing has
been a unique experience for me, and | am
delighted that you have joined me on this
adventure.

Life presents us with countless challenges, but each challenge is an opportunity for
us to grow stronger. | believe that our experiences—joy and sorrow, hope and
despair—shape who we are. In this book, | have tried to bring those emotions to life
through words and illustrations, allowing you to feel the essence of the book on every
page.

| am particularly pleased that the previous edition of our book received rapid acclaim
across 56 districts in Bangladesh. Students and teachers have praised the discus-
sions, presentations, and writing style of the book. The occurrence of nearly a hun-
dred percent common questions in preparatory exams is an extraordinary achieve-
ment, which is rare in the world of books.

In line with this success, the book has been newly redesigned this year. To eliminate
monotony, it incorporates a wealth of cartoons and illustrations, making the reading
experience even more vibrant.

This is the country's first and only science-based learning book. May this excellent
book remain in your and your teacher's hands—serving as a guiding light in the sky of
knowledge.

Your feedback is immensely valuable to me. | hope this book ignites inspiration in your
mind and propels you toward your dreams. Together, let us expand the boundaries of
our potential and redefine our lives.

WITH GRATITUDE MY BEST TEAMMATES

I Md. Bappy Hosen i Md. Alahim Hosen
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Recent Years’ Question & Solve (2023-24) 1

01. The whole incident did not last long, but .........
A. it happened only yesterday
B. it felt like eternity
C. it was forgotten quickly
D. it took just a few seconds
(@) Explanation//AT¥ but AT (A= ATHR oA #ex 731G eifroed
ud @ QrE wd-orE ot @ 3m @l e ot
GBI Neo! Spe eAfRet | widfie It felt like eternity.

02. Psychologists conclude that our childhood experiences often
have a strong influence on the way we —— the would later
in life.

A. perceive B. appropriate
C. anticipate D. portend

(@ Explanation/ A wd-Neifeeifaa Fraite qoes @, i
wfeweiate eRfiTens T 3@ AT @ A Frod SREre
Rt ot acar | Soleia wed Perceive 263 |

03. Andrew Kishore was raised in a —— christian family of
Bangladesh.
A. reliabe B. overwhelmingly
C. stalwart D. devout

(@ Explanation/ ag fFeeia e B e 7o zwac | e
=it devout =R |

04. The author seems to invite us to —— with the tragic
characters of his book.
A. connive B. ridicule

C. commiserate D. contemplate

@ Explanction/ 9T (T ARPITE RIS A ETS
PRASTER q34 O I (TS I Yo T AR G Sw@e!
SIfCaTR | commiserate- FRIFgfo=e

""Most scientists find a chasm between theory and practice™.
A synonym of the word ‘chasm" is ——.

A. fissure B. expertise

C. density D. chivalry

@) Explanation/ Chasm =itwrg SI4-Ge1, fissure-¥¥ioe1, expertise-
wsl, density- 99, Chivalry-3<g |

Recent data from the World Health Organisation (WHO)
shows that COVID infections did not spare ——

A. nobody B. everybody

C. anybody D. somebody

(@ Explanation// COVID infection 1et& =G (A | FSce o
Nobody/anybody 53%iF %Ce “Ita | &8 G @y Negative
©I? Anybody 9ZIF *(A |

05.

06.

07. ——you like a cup of tea?
A. Should B. Could
C. Shall D. Would

(@) Explanation// Polite invitation & ¢Ftq would <=9 27 |

08.

09.

10.

11.

12.

13.

14.

15.

Travelling alone at night is not a option.
A. versatile B. verifiable
C. veritable D. viable

@ Explanation/ Viable W< TAgw,  Verifiable-HIZEIAT,

Veritable- <5 | Fte @i I T4 Toige et 77 |

People who are usually ill-tempered are ——.

A. perhaps unhappy in life

B. guilty of crimes

C. quite impudent

D. very self-centered

@) Explanation/ (7 NS ill-tempered I IMCNENTE ©I€l ST

G ST 21t | =i Perhaps unhappy in life.

An antonym of ‘artless’ is —.

A. guileless B. gullible

C. cunning D. unassuming

Artless-®& FRE, cunning-4$, guileless- e,

gullible- SIf$1==T, unassuming-fvs |

The mechanic said the refrigerator would be expensive to

repair, and recommended buying a new one ——

A. instead B. however

C. though D. despite

@ Explanation/ Instead o ifeaee | A wd ol @3

Refrigerator < 19 #ife<ts wow @b feere q0eT0 |

An antonym of the word *honour" is ——

A. empathy B. stigma

C. prejudice D. dogma

(@ Explanation// Honour--I,  stigma-F1<, empathy-RIef®,

Prejudice-$1<&14, dogma-Tofs |

We kept in touch with the authorities, —— some of the street

lights were broken in our neighborhood.

A. therefore B. for

C. in case of D. because of

(@) Explanation/ % 1 for wE S |

The economic recession means that some of our employess

——redundant in the coming years

A. are being made

B. may be made

C. should be making

D. would be making

(@ Explanation// SN J=AetTte (in the coming years) %
0% FA5IET redundant (SIS 20X A | AR e Sedf

May be made %3 |

They preferred to live underground so that the land could

—— them from the scorching heat of the sun and external
noise.

A. levitate B. connive

C. divulge D. insulate

(@ Explanation// Insulate- W¥ (ICT fo%e heat/sound/ electricity
« TreR *If& (LT -F AT | Levitate =¢ SIFT (7@1, connive
=g o 41 | divulge < 19 41T |
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01.

02.

03.

04.

05.

06.

07.

08.

09.

For myself | chose the cheapest dish on the menu —.

A. and was that a mutton chop

B. was mutton chop

C. and that was a mutton chop

D. that was a mutton chop

(@) Explanation// Option-a ¢ conjunction € #< verb WtR | @
T | W*F-B (S chose @ was «FIfESF verb =2 | 5§ clause
marker (72 | ©13 @6 T | I9F D (S that 20 1 | G 91 'C'
(S conjunction € 7 Subject + verb Wt | Fear «ff Afdw |

How many times —— you been abroad?
A. have B. did
C. had D. were

@) Explanation// How many times- (FItl 5R Foae whrz G
AT Present Perfect tense = |

How does junk food —— from fast food?
A. different B. differ
C. difference D. defer

(@ Explanation// Does & 4= verb @ Base form =@ | «r oy
et =g differ (verb) T9%® 27 |

She was selected from —— 400 competitors.
A. among B. near
C. toward D. between

@) Explanation/ F4=e® 20N W4 e/ TE 0y among 07 |
@f> Text Book @3 (G =113 |

She has been principal of the school — the last five years.
A. during B. for
C.to D. since

@ Explanation/ Point in time &7 5t Since BT @R Periods of
time @3 7[td for ICT |

Choose the correct adverb.
A. prettily B. pretty
C. prettify D. prettier

@ Explanation// Adjective @3 T ly I% =@ Adverb =ffs =)
Peretty 2= Adjective «€3e Prettily te= Adverb |

What is the antonym of 'ancient'?

A. contemporary B. archaic

C. historic D. antiquated

@ Explanation/ Ancient =g &5, contemporary- X,
Archaic- @159, historic- @f$2ifs, Antiquated-2i5ia |

What is a synonym of ‘animosity"?
A. harmony B. enmity
C. serenity D. amity

(@ Explanation/ Animosity =¥ *@el, harmony-&33, enmity-
@], amity- IFy, Serenity- &fE
Choose the correct option.
A. How does the food affect Purnima'’s lifestyle?
B. How the food affect Purnima's lifestyle?
C. How was the food affect Purnima's lefestyle?
D. How does the food effect Purnima's lifestyle?

10.

11.

12.

13.

14.

15.

@ Explanation// How does @71 “IFRSIC® subject € *i«1 G<5! verb
P | A affect IO verb | 93 effect 52 Noun «f Text Book

47 930 298 3T |

Which word is misspelled?
A. Receive B. Reciept
C. Recess D. Recent

(@ Explanation// Reciept & 91 I | @b 315w 70me Receipt |
Which of the following sentences has an interjection in it?

A. Well, it is time to say good bye

B. He studied hard, yet he could not pass the test

C. This is no what | meant

D. Do you know where the playful penguins live?

@ Explanation// @It (@ =g Well 57z R0aCR | @R @ff A0
Interjection G T9ze TR |

Choose the correct sentence.

A. | bought two pair of trousers.

B. Can you give me some advices?

C. I read poetry about a horse

D. Hamlet is one of Shakespeare's most famous works.

(@ Explanation/ Option-a ¢® two pair &3 #f=TS two Pairs 2 |
Option-B ¢ Advice Uncountable Noun | @3 «f5q A1t s/es T&
R 9N | One of €3 15 Plural Noun 53%19 7 |

Choose the correct sentence.

A. Cycling is a good exercise

B. Cycle is a good exercise

C. To Cycle is a good exercise

D. To Cycle is good exercise

@ Explanation/ 4t faefde o | «fwe «Bi Tea (@G e
@B Tl fT$a F0z | Oxford, Cambridge, Collins @ exercise
Uncount Noun €32 @3 =& Article I0T 11 | (Tey &6 2% D |
58 PC Das tstes Exercise count Noun Cycling 20 to cycle
a3 & @M epfre W3 «fs AR Dictionary (o #iheqt I |
arwg A Teq e Option-A Q@ awarey | € D s zre
A |

Identify the figure of speech in 'a terrible beauty is born’

A. Oxymoron

B. Metaphor

C. lrony

D. Personification

(@) Explanation// i 736 * faside wd aom T ¢ife
Oxymoron ¥ | Terrible @ beauty 725 f1&re *=t |

Identify the type of sentence: In my opinion, Romeo and
Juliet by William Shakespeare is a great play.

A. Imperative

B. Declarative

C. Interrogative

D. Exclamatory.

(@ Explanation/ Assertive sentence @< W#FEIN  Declarative
sentence ¢ T R | TS AWO AN RIOTT (@RI J0ACR |
7 e @3 AW Declarative sentence & 2 |
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FEEs

- |

(

oS A F1-2023-2024

(EA

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

of the mountain with much

He climbed to the
difficulty.
A. base B. botto C. above D. top

(@ Explanation/ WTITEE (¥ WKE ~4€ Aeq Y98 FBAI |
Mountain €3 JE™ S = top WILE A |

She likes —— adventure books.

A. reads B. reading C.toreading D. read

(@ Explanation// Like < Gerundial Verb | w€e Like @3 et
Verb @3 A2 ing I& 27 | 4T, Reading Af6s $&d |

It is high time we the project.

A. start B. started C. starting D. start up

(@ Explanation// It is high time & #Itar Subject 2FCT *==ST Verb
5 S=™72 Past form @ 23 |

The boy was rewarded for his behaviour.
A. good B. inappropriate
C. neat D. proud

@) Explanation/ ST S ©ITaT (IRIEE &) FTF© AR | WL
Good Behaviour.

Ruma was shocked her friend’s conduct.
A. at B. of C. with D. for

(@ Explanation/ Shock @< It Preposition at &7 | Shock at-

My mother is indifferent —— politics.

A. of B. to C.on D. for

(@ Explanation// Indifferent to- S |

The gift was wrapped —— blue paper.

A. by B. on C.in D. around
(@ Explanation/ Wrapped in- (IGTT |

The policeman —— the thief after a brief chase.

A. catch B. caught C.iscaught  D. catching

(@) Explanation/ After &= 7t Past Indefinite Tense 21 | GTTF
75 T&q 2Bz Caught

The meeting—— postponed due to bad weather.
A. to be B. hasbeen  C. were D. will

(@ Explanation/ The meeting @Txg Singular Subject GTLxg verb
273 singular | 914 has been 2 |

The phrase ‘Down-to-eath’ means-

A. Close to nature B. soft hearted

C. Dead D. Realistic

(@ Explanation/ down To earth =g Jreed | widie Realistic-
IR |

Choose the correct synonym of ‘Annihilate’.

A. inhale B. Destroy

C. Entertain D. Forward

(@ Explanation/ Annihilate- &1 1 | T F4F =% Destroy-
ST FA0 | inhale-%PT (93 | entertain-Raw, Forward-«fica anear |
Which one of the following pairs is similar in relationship to
PEN:INK?

A. Words:Dictionary B. Pond:Fish

C. Water:Cloud D. Coach:Goalkeeper

(@) Explanation/ FeTCx NG (I e ACF, (SN FFCA MR AT |
e A5 5994 202 | Pen: Ink & Pond: fish.

01.

02.

03.

04.

L5

01.

02.

03.

“There is more talk yet to be told.” I /B ’lﬁ?“ﬂ?ﬁﬁ
FH?

A. YT IS FT MR |

B. SI=& I TR $F& NAF A |

C. SIF (P17 T (72 |

D. StF I 512 IMe ST o1l FEACR |

@) Explanation/ There is more talk yet to be told. =TT AHBT
FAfGT G- QAT ST TN AR |

Choose the correct synonym of the word ‘Eccentric’-

A. Eclipse B. Shine

C. Strange D. Indifferent

(@) Explanation// Eccentric- &5 | T 4% *% Strange (S7g®) |
Fill in the blank with appropriate preposition: Do you know
——what time you have to arrive there?

A. with B. to

C.at D.on

(@) Explanation/ Know & #Ita Preposition to 6 |

“9 'Ier 72 ¢tk 1”7 Which of the following translation is
correct?

A. All is lost but honour

B. All is lost without honour

C. All is lost except honour

D. All is lost instead of honour

(@ Explanation/ T TG 7R (+t® 47 6% Translation = All

is lost except honour |

EEER

=

of$ AAF1-2023-2024

Choose the correct synonym of the word 'Equivocal’
A. Uncertain B. Certain
C. Obvious D. Lucid

@) Explanation/ Equivocal- W4, @B g == Uncertain
(affo®) |

Fill in the blank with appropriate preposition : The guest
will come — the afternoon.

A.in B. by

C.at D.on

@ Explanation/ The guest will come in the afternoon 43 =< 2052
sl REFce e SPTea | (@IET e ST oed come 97~
in q0T |

“TOINIM @Bl STl ¥FF WIR1” Which of the following
translation is correct?

A. You have a good news.

B. You have one good news.

C. Here is a good news for you.

D. Here is one good news.

@) Explanation// “ CSTNIR 351 STl 49 WTR” €3 6% Translation

Q= you have a good news.
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02.

03.

“HINIE CRIT T GF6 FT A0S |7
translatlon is correct?
A. Give me a pen to write. B. Give me a pen to write with.
C. Give me a pen for writing.  D. Give me a pen for writing with.
@ Explanation/ “SINIIE (T &5 €36 o wie |” @7 S
translation 205, Give me a pen to write. STy (@RITS to + v; = |

Which of the following

Choose the correct synonym of the word ‘Accord’-
A. Harmony B. Forgive
C. Accuse D. Compel

@ Explanation// Accord *twr wid =R Bfes, T LS W% =
Hermony (@W)

Fill in the blank with appropriate preposition: The sun will
not rise —— 8 O’clock today.

A. before B. since

C. at D.in

’ fafe sTa 9 Preposition eI at 367 |

01.

02.

03.

Fill in the blank with appropriate preposition: Sifat was
being impolite —— everyone at party.

A. with B. to

C.at D. for

7 Impolite @3 AT Preposition RETI with I67 |
Impollte with everyone Si<f ST AL ey SAGA 4T |

“I3fBT QI STt (ET 17 Which of the following translation is
correct?

A. Open at page 16 of the book.  B. Open page 16 of the book.

C. Open on page 16 of the book. D. Open page 16 of this book.

@ Explanation/ “32Ba Q@I <ot (4" «@F S Translation
Q0% Open at page 16 of the book.

Choose the correct synonym of the word ‘Benevolent’.
A. Miserly B. Generous
C. Rude D. Timid

(@ Explanation// Benevolent W< 25z TABIAT | T AN 1w 0=
Generous (37¥) |

@m

oS A F1-2023-2024

Read the passage and answer the questions (01-05):

Globally, half of students aged between 13 and 15 have
experienced peer-to-peer violence such as physical fights or
forms of bulling, from their peers in and around shcool. Students
experience other forms of violence at school, such as attcks on
classrooms or physical punishment by teachers. About 720
million school-age children live in countries where they are not
fully protected by law against forms of physical punishment at
school. Education is the key to building peaceful societies, and
yet, for millions of children school itself is not safe.

01.

02.

03.

04.

05.

06.

07.

09.

More than one in three students have experienced bullying.
About one in three has been involved in physical fights. Around
17 million adolescents in 39 industrialized countries have
admitted bullying at school. In 2017, there were 396 documented
or verified attacks on schools in Cngo, 26 on schools in Suth
Sudan, 67 attacks in Syria, and 20 attacks in Yemen. While girls
and boys are equally at risk of bullying, girls are more likely to
become victims of phychological forms of bullying and boys are
more at risk of physical violence and threats. Violence involving
weapons in schools, such as knives and guns, continues to claim
lives. In an increasingly digital world, bullies are disseminating
violent, hurtful, and humiliating content with the tap of a key.
Which one will be a suitable title of this passage?

A. Impacts of Bullying

B. Bullying and Violence

C. Bullying at school

D. Bullying: A Global Phenomena [Ans)
Many school-age children have no deal safeguard against
punitive measures at school. This statement is-

A. no stated in the passage B. true

C. false D. partially true B
School bullying is experienced by the students of-

A. industrialized countries

B. non-industrialized countries

C. semi-indusrial countries

D. both industrialized and non-industrialized countries  [Ansfs)
Which one of the following statements is true?

A. The risk of bullying is gender neutral.

B. Psychological form of bullying is common to girl.

C. Make students are prone to bodily injury.

D. All of the above. D

Technological advancement has intensified bullying. This
statements is-

A. true

C. not stateed in the passage
Robben island was a-

A. Plesaure island B. Penal island

C. Prohibited island D. Tiny island

(®) Explanation// (AT &1 7ebz =Iif%a &+ widie Penal Island.
The reason of Kalpana Chawla’s death was-

A. Columbia’s intact wings B. hot gases

C. Insulating foam D. structural failure

(@ Explanation// F11ITe @3 Afes oy @foa F@eet F5a1 she
WRI | Structural failure- FICTe @6 |

B. false

D. partially true Ansy

. ‘Inter alia’ is used to-

A. assert something

B. deny something

C. describe things of similar nature
D. express satisfaction

“Inter Alia" Phrase-B7 ¢ wam agfen fafawr
el 4 w1 describe things of similar nature.

Which one of the following is true?

A. Science does not understand the purpose of sleep

B. Science does not understand the purpose of dream

C. Science understands the purpose of sleep but not of dream

D. Science understands the purpose of both sleep and dream

/ 3153 AT 20, ‘Tl W STy JATS AN A |

Suence does not understand the purpose of dream.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Use the right form of verb: | (speak) him for an hour till his
mother (come).

A. spoke; came B. talk; go

C. had been speaking; came  D. had spoken; came

(@ Explanation// For €% =7 W (IR 20T (18 AW Present
Perfect continuous tense T | ¥R IFH IM TSIeHIER @RIT
SIR(eT Past Perfect continuous << I3 |

A “liberal’ person is likely to-

A. be open to new ideas B. accept different views

C. deciline opposite views D.have a stance against francishe

(@) Explanation// A liberal (TWI<) Person g g <Al &I T |
A person officially authorized to mutilate another is known as-
A. butcher B. surgeon

C. executor D. cutter

(@ Explanation/ @ & o) «F iets e T o Sgeaime
OItF G FA Surgeon =11 T |

Which pair is synonymous?

A. accurately - precisely B. duplicate - repeat

C. estimated - projected D. all of the above

@ Explanation/ Accurately (FfoFeItR) @3k Precisely (Sf@e) @
5 TF AT AL *I77 |

Select the strongest match for the word ‘meditation’.
A. self-reflection B. selflessness
C. self-identification D. both Aand C

(@ Explanation/ Meditation-451=, Self-reflection fates afemer |
Self-identification- SIeI=fRioF |

Opposite meaning of the word ‘confident’ is-

A. poised B. Perplexed C.composed D. uncontrolled
(@ Explanation// Confident *toa wi¢ wrefT, A f[RAde ==
Perplexed (RE®)

The ——was surrounded by her friends.

A. groom B. bride C. boy D. baby

(@ Explanation/ T ©fF IFA A @R | AP QT
Bride 23 |

“But to go to — in a summer morn, O it
A. street; give B. school; drives

C. field; would take D. home; gives

(@ Explanation/ 46 Text book <% @S5 #1i&= | William Blake @5
the school boy Fe UFfG =18 |

“I have a dream that my four little children will one day live
in a nation where they will not be judged by the —— of their
skin but by the of their character.”

A. color; courage B. color; content

C. black color; strength D. black color; reputation

(@ Explanation/ 46 textbook &= | have a dream “HeTCes @b 1 |

Do not eat or drink anything —— the oldest man —— the
table has begun.

A.unless; on B.till; on C. until; at D. so long; in
@) Explanation// (ST fFR Tt TS on I1<97© T |

Which one of the following is a correct tag question?

A. Telling lies is a great sin, isn’t it?

B. One lie begets hundred lies, does it?

C. Men hardly believe a liar, do we?

D. all of the above

@ Explanation/ Affirmative It tag (< Negative @<= Negative
JICH tag =T Affirmative | Auxiliary verb @< tag <0 2 |

all joy away”

el

01.

02.

03.

04.

05.

06.

07.

08.

SR

Gl

orRIkIqdsd fegfdsiery B
of¥ 4qF1-2023-2024

AA

Read the passage and answer the questions (01-05):

At daylight, | was half wakened by the sound of chooping.
Again, it was so even in texture that | went back to sleep. When |
left my bed in the cool morning, the boy had come and gone, and
a stack of kindling was neat against the cabin wall. He came
again after school in the afternoon and worked until time to
return to the orphanage. His name was Jerry; he was twelve
years old, and he had been at the orphanage since he was four.

I could picture him at four, with the same grave grey-blue eyes
and the same — independence? No, the word that comes to me is
“integrity”. The word means something very special to me, and
the quality for which I use it is a rare one. My father had it —
there is another of whom | am almost sure — but almost no man
of my acqualntance possesses it with the clarity, the purity, the
simplicity of a mountain stream. But, the boy Jerry had it. It is
bedded on courage, but it is more than brave. It is honest, but it
is more than honesty. [...] He was free-will agent and he chose to
do careful work, and if he failed, he took the responsibility
without subterfuge.

The author suggested that integrity is-

A. seen infrequently B. very common to all

C. not attributed to Jerry D. found nowhere [AnsE
The author appreciates Jerry’s ready willingness to-

A. behave bravely B. pursure honest path

C. stay courageous D. remain accountable

Jerry left leaving-

A. the author alone B. a pile of firewood

C. the author in the bed D. the author half wakened
Which of the following statements is correct?

A. Integrity is basically about courage.

B. Jerry has never been in the orphanage.

C. The sound of chopping was inconsistent.

D. Jerry was never into any deception. Ans])
Jerry resided in the orphanage-

A. for four years B. for six years

C. for twelve years D. for eight years D

Use the right form of verb: They (swim) in the pool when the
wind (start) blowing.

A. were swimming; started B. swim; starts

C. swimming; start D. had swam; start

@) Explanation// When & 335 clause <6esT << clause Past
indefinite tense g €3k % clause & Past continuous tense 2 |
An antonym of “mobility” is-

A. agility B. motion

C. stagnation D. movement

(@ Explanation/ mobility *itwr = sifederer qw Rede =
stagnation- &% |

A person who presides over a Tribunal is known as-

A. Prosecutor B. Advocate

C. Administrator D. Judge

(@ Explanation (3 3% GIZFAITT STerifow 0 It Judge 1 & |
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09.

10.

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

Which pair is synonymous?

A. Intimate-privity B. Impelled- forced

C. Isolation- disassociation D. all of the above

@) Explanation// Intimate *toa W< S@w @R Privity =t =g
(oiTeIreT | Intimate @3 Privity *% QT3 S#IG& T4 |

Select the strongest match for the word “emancipation”.

A. non-discrimination B. equality

C. manipulation D. deliverance

(@) Explanation// Emancipation- I&; deliverance-If& |
Valentina Tereshkova envisioned to-

A. fly to Mars B. be a politiclan

C. fly a one-way trip D. be a member of the legislature
@@ Explanation// Velentina Tereshkova fly to mars &< T F0e |
af> text ¥F =I= M2, she expressed her desire to fly to Mars,
even if for a one-way trip.

In volunteerism, civic engagement is-

A. regular B. spontaneous

C. spontaneous and irregular  D. Irregular

@ Explanation// CTRIGIRFS! Civic engagement €= fafare e |
In South Africa, the apartheid ended through-

A. foreign intervention B. bloodshed

C. negotiation D. civil disobedience

(@) Explanation// W ST < LIy 70 2 ACATHAIT TN |
‘Potential’ denotes-

A. anticipated capacity B. present capacity

C. full of capacity D. accomplished capacity

@ Explanation/ Potential &I 2rejif¥e 1 71814y |

“Par excellence” is an example of-

A. average quality B. achievable standard

C. common quality D. superior quality

(@) Explanation/ Par excellence @t (IR Sw1e (Superior quality).
“] have a dream that one day even the state of Mississipi, a
state sweltering with the heat of , Sweltering with the
heat of , Will be transfermed into an oasis of freedom
and justice.”

A. hate; oppression B. injustice; oppression

C. injustice; corruption D. apartheid; discrimination

(@ Explanation// 4 textbook < | have a dream “ETER G =113 |

It is customary to take a small gift —— the host —— invited
to a home.

A. to; when B. for; if C. for; as D. to; while

(@) Explanation/ @5 text book @& Manners Around the world
AT G35 #112 |

“Peace means these differences through peaceful

means; and through
A. removing; forceful

ways.”
B. addressing; joyful

C. bringing; acceptable D. solving; humane
——is the only heiress of her huge paternal property.

A. The Monk B. The groom

C. The bride D. Mr. Jamal Ans[e
Which of the following is a correct tag question?

A. Time and tide wait for none, don’t they?
B. Patriotism is a great virtue, isn’t it?

C. Fishes can swim, can they?

D. all of the above

(@) Explanation// Affirmative AItHA tag T Negative «<= Negative
A tag =T Affirmative. Auxiliary verb @3 tag 30 =7 |

Conll

01.

02.

03.

FEES

fa

/
AT

of$ AAF1-2023-2024

Read the following passage and answer questions 01-05:

The term “folk song” has been current for over a hundred years,
but there is still a good deal of disagreement as to what it
actually means. The definition provided by the International Folk
Music Council states that folk music is the music of ordinary
people, which is passed on from person to person by being
listened to rather than learned from the printed page. Other
factors that help shape a folk song include: continuity (many
performances over a number of years); variation (changes in
words and melodies either through artistic interpretation or
failure of memory); and selection (the acceptance of a song by
the community in which it evolves).

When songs have been subjected to these processes their origin
is usually impossible to trace. For instance, if a farm laborer
were to make up a song and sing it to a couple of friends who
like it and memorize it, possibly when the friends to sing it
themselves one of them might forget some of the words and
make up new ones to fill the gap, while the other, perhaps more
artistic, might add a few decorative touches to the tune and
improve a couple of lines of text. If this happened a few times
there would be many different versions, the song’s original
composer would be forgotten, and the song would become
common property. This constant reshaping and re-creation is the
essence of folk music. Consequently, modem popular songs and
other published music, even though widely sung by people who
are not professional musicians, are not considered folk music.
The music and words have been set by a printed or recorded
source, limiting scope for further artistic creation These songs’
origins cannot be disguised and therefore they belong primarily
to the composer and not to a community.

The ideal situation for the creation of folk music is an isolated
rural community. In such a setting folk songs and dances have a
special purpose at every stage in a person’s life, from childhood
to death. Epic tales of heroic deeds, seasonal songs relating to
calendar events, and occupational songs are also likely to be
sung.

What does the passage mainly discuss?

A. Themses commonly found in folk music.

B. Elements that define folk music.

C. Influences of folk music on popular music.

D. The standards of the International Folk Music Council.[JAns|g)
Which of the following statements about ‘folk song’ is
supported by the passage?

A. It has been used for several centuries.

B. The International Folk Music Council invented it.

C. Itis considered to be out-of-date.

D. There is disagreement about it meaning. D
Which of the following is not mentioned as a characteristic of
the typical filk song?

A. It is constantly changing over time.

B. It is passed on to other people by being performed.

C. It contains complex musical structures.

D. It appeals to many people. [Ans[®
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04. According to the passage, why would the original composers
of folk songs be forgotten?

A. Audiences prefer songs composed by professional musicians.
B. Singers dislike the decorative touches in filk song tunes.

C. Numerous variations of filk songs come to exist at the same time.
D. Folk songs are not considered an important form of music.[/Ans[@l
The author mentions that published music is not considered
folk music because-

A. the original composer can be easily identified

B. the songs attract only the young people in a community

C. the songs are generally performed by professional singers

D. the composers write the music in rural communities
Stare : Glance ::

A. Gulp : Sip B. Shallow : Depth

C. Hollow : Deep D. Faint : Audible

@ Explanation// Stare W< ©IIAl, glance - (1| & AT

TE Nt Gulp Pt 416, sip T3F | 918 === T |
What is the passive form of “He was driving the car so fast
that it skidded on the snowy road”?

05.

06.

07.

A. The car was driven by him so fast that it skidded on the
snowy road.

B. The car was being driven by him so fast that it skidded on the
snowy road.

C. The car had been driven by him so fast that it skidded on the
snowy raod.

D. The car has been driven by him so fast that it skidded on the
snowy road.

(@) Explanation//Past Continuous tense @ Active (2T& Passive
FACO R Subject + was/were + being + v + by + object.
A child born after death of father is called-
A. effeminate B. immature
C. fatherless D. posthumous
(@ Explanation/ (@ e S O QA ToIF *F GHRY F O
Posthumous ¢ |
Which part of the following sentence contains error?
Many a boy were happy dancing at the victory

A B
of our cricket team in India? No errors.

C D

@) Explanation/ many a & it verb singular =1 &€ @I
plural (were) =tz ©1% @ft o7 |
Which of the following is not an epic?
A. The lliad B. The Mahabharata
C. The Shahnameh D. The Da Vinci Code
(@ Explanation/ The Vinci code- 4ft 4G Film.
Which of the following is the correct sentence?
A. Tt is strange that you don’t kow swimming.
B. It is strange that you don’t know how to swim.
C. It is strange that you don’t know how to swimming.
D. It is strange that you don’t know to swim.

(@) Explanation// Know how & #Itd infinitive <219 =¥ |

“In the fast-paced world of technology, today’s cutting-edge
gadgets quickly become ephemeral as newer, more advanced
models are introduced.” What does the underlined word
mean in the sentence?
A. Everlasting

C. Substantial

08.

09.

10.

11.

12.

B. Temporary
D. Perpetual

(@ Explanation/ Ephemeral- <5131, Temporary- g3 |

What is the verb form of the word ‘able’?

A. to able B. disable C. enable D. ability

(@ Explanation// able *It%i verb form Zt5z enable, en (Prefix) I&

* LS verb 2 |

What is the appropriate closing for a formal business letter?

A. Sincerely B. Regards

C. Best wishes D. Yours truly

Identify the sentence with correctly placed modifier.

A. The children admired the ural painted with bright colors.

B. Painted with bright colors, the mural was admired by the
children.

C. The children admired the brightly colored mural.

D. Painted with bright colors, admired the children the mural.[Ans[el

13.

14.

ANSPAY
15.

S

fay) S ¢

of$ AAF1-2023-2024

) -
01. Choose the correctly spelled word.
A. Brochure B. Brachers
C. Broucher D. Brachor

@ Explanation/ 9% I =0%=- Brochure.

02. The girl is proud of her blue blood. What does the blue blood
mean?
A. Inferior B. Noble
C. Humble D. Creative

(@) Explanation// Blue blood- wrfeeres | i€ Noble.

The pyramid has been examined the last century.
A. for B. on C. over D. in

(@ Explanation// Examined @< At Preposition 20T over I67 |

03.

04. Select the wrong synonym of Exhibition.

A. Mounting B. Parade

C. Specacle D. Obscurity

(@) Explanation/ Exhibition- &w=fT; Obscurity- Sife=r=i7 |
05. Few men are free from faults. Here ‘Few' means:

A. Hardly any B. not much

C. None D. Some

(@) Explanation// Few ¥ (78 T=1C18 BT | wiie Hardly any.

06. If X isequal to Y and Y isequal to Z—— X isequal to Z.

A. so B. Than

C. Then D. None of them
07. An experiment on university students that dance

increase creativity.

A. suggested B. was suggesting

C. suggest D. suggests

(@ Explanation// Subjunctive word &= * that Qe 7! verb
AT base form =3 |

Rahima is fluent in six different languages. Her language
ability makes her a——.

A. Bilingual B. Polyglot

C. Monolingual D. Linguist

(@ Explanation/ (T i ey S/ F1 =100 #ta G <1 =7
Polyglot.

08.
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09. The superlative form of far is ——.

A. most far B. farther

C. more far D. farthest

(@) Explanation/ Far 2 Positive Degree | Far @ Superlative
form 2052 Farthest.

Select the correct sentence.

A. The origins of knitting are not known

B. The origins of knitting is not known

C. The origins of knitting were not known

D. The origins of knitting know.

@ Explanation/ Subject Plural 2t verb Plural 263 1 Plural verb
R are =@ |

10.

FESS

Y 7= W

of$ 2AF1-2023-2024

01. A good student is aware —— the current affairs —— the
world.
A. of, of B. about, of
C.of,in D. in, about

@ Explanation// Aware of- S5 |

02. Nothing new forever.
A. remained B. remains
C. remain D. was remained

(@ Explanation// Nothing M subject X1 (18 AT verb Red
singular | €%y 5 & 2@ remains.

Select the synonym for ‘Instinctive’.

A. Spontaneous B. Strained

C. Forced D. Rehearsed

@ Explanation/ Instinctive *tora w¢ R&® | I AL W%
Spontaneous *T¥d SI<- TS |

Identify the correct indirect speech: He said, “I am well”.

A. He said that | was well. B. He said that he is well.

C. He said that he was well.  D. He said that I am well.

(@ Explanation/ Assertive Sentence @€ Narration “fR<es wace
A “F1 90 that 2 2 | Tense €32 Person #RiRew F40e 27 |

03.

04.

[ =i

Fia)
vy -

Cas ©f$ “A1-2023-2024

01. Al has brought——a revolution —— modern technology.
A. about, in B. of, to
C. upon, in D. in, for
@) Explanation// Brought about- < 5 |

02. Itis high time we —— our efforts to change the country.
A. will use B. has used
C. used D. use

(@) Explanation// It is time/ It is high &= “Ita subject ARRCT “=<rST
verb 5 /=T Past form @ 203 |

03. Select the synonym for ‘Pastoral’.
A. Urban B. Civilized
C. Agrarian D. Industrial

(@ Explanation// Pastoral =tws g A&® | Agrarian-gR&HT,
Uraban- *=tg, Civilised- 37 | Industrial- & |

04. Choose the correct indirect speech for- I said to you, ‘Good
morning.”
A. | told you that it is a good morning.
B. I wished you good morning.
C. I told you good morning.
D. I wish you good morning
(@) Explanation// Direct Narration @ good morning < Indirect

A0S T Said @7 2IfFRTS wished 929 F909 =T |

FEES

==

| 557 B o %-2023-2024

01.

I condole — my friend — his sister's death.
A. with, on B. on, with
C. with, to D. to, with
@) Explanation// condole with-<1eal &S FCam=T &0 Tl | (AT
HFH JATS on 0T |
02. It — that vitamin —A, — C and - E are effective for the
treatment of arsenicosis.
A. is believed B. believes
C. has believed D. believed

@) Explanation/ A5 Passive voice @ S (I | FE AR
subject & &S e fAter Fce TR 77 | ©12 AGF TeT T is

believed.

03. Select the correct antonym for *Inclination’.
A. Disposition B. Inaptitude
C. Proneness D. Liking

@ Explanation/ Inclination *ta =g 1% | Inaptitude-Scariret,
Disposition- ®SI<, Proneness-&Jerer |

Correct indirect speech for : he said to me, "'Do it at once™.
A. He told me that | should do it at once.

B. He ordered me that | do it at once.

C. He ordered me to do it at once.

D. He suggested me to do it at once.

(@) Explanation// Imperative sentence @3 Narration *ff<es Fce
TE "I QI to PICS | R said @ ARECS ordered,
advised, requested TS X |

04.

of$ AAF1-2023-2024

B Read the following extract and answer gquestions 01-08
Adults tand children are frequently confronted with statements
about the alarming rate of loss of tropical rainforests. For
example, one graphic illustration to which children might readily
relate is the estimate that rainforests are being destroyed at a rate
equivalent to one thousand football fields every forty minutes —
about the duration of a normal classroom period. In the face of
the frequent and often vivid media coverage, it is likely that
children will have formed ideas about rainforests-wath and
where they are, why they are imporant, what endangers them-
independent of any formal tuition. It is also possible that some of
these ideas will be mistaken.
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01.

02.

03.

04.

05.

06.

07.

08.

09.

Which of the following contains true information about the

extract?

A. The plight of the rainforests has largely been ignored by the
media.

B. Children would form opinions on rainforests based on
information given by media

C. It has been suggested that children hold mistaken views
about the 'pure’ science that they study at school.

D. The fact that children's ideas about science form part of a
larger framework of ideas means that it is easier to change
them. B

Which sentence uses the word ‘rate’ correctly?

A. Hype of rainforests is rated

B. The rate of destruction of rainforests is alarming

C. The interested rate services are avalable .

D. You are asked to rate the character of your friend. B

Which of the following is the most suitable title for the

extract?

A. The development of a programme in environmental studies
within a science curriculum

B. Children's ideas about the rainforests and the implications for
course design

C. The extent to which children have been misled by the media

D. Rainforests and their representation

Which of the following uses the noun form of ‘confront’

properly?

A. The confronted never forgive

B. The logic of envets will lead them to a confronatation with
the enemy

C. The confronting parties are in deep trouble

D. The frontiers are open AnsfE]
Which one is the correct noun form of ‘equivalent'?

A. Equidistance B. Equisition

C. Equivalence D. Equivalention

Which one is the acceptable translation of 'It is also possible
that some of these ideas will be mistaken™?

A. G518 T (T G2 LIRENST W04 Qo I

B. GBI 87 (T U {RENSTT BT

C. «bre ¥ (T 9T BT YIReISTeT el T |

D. g Ry 479l &1 TA |

Which one is the acceptable noun phrase?

A. Graphic question B. Graphic answer
C. Graphic desire D. Graphic presentation
Which one contains the correct use of "tropical?

A. The tropic of discipline is very important for the student

B. The accept the tropic

C. We went to accept the tropic

D. The tropic always distrubes us

'‘Being ardent' means-

A. being intense B. being lukewarm
C. being dispassionate D. Being cool

(@) Explanation/ Being Ardent *tata i &/<e R | A AT *1
Being Intense (1§ =eaN) Being Lukewarm-*F= e, Being
dispassionate-SPT@2 e, Being cool-ITeT 2ewt

Anspay

[Ans[E]

10.

11.

12.

13.

14.

15.

16.

17.

18.

'He had many acquaintances but few really close friends.’
This is an example of —

A. Compound sentence B. Complex Sentence

C. Simple Sentence D. Contracted Sentence

@ Explanation/ Compound Sentence o7 =& [Tex f6 Clause
@@ @3 Co-ordinate Conjunction e =i<fe, and, but, or, still,
otherwise @ & ACF | SMHWE Simple sentence @ BT clause
F AIR (FICIT conjunction ACF =1 |

Complex Sentence %15 &F P 3f6 clause @3 Sub-ordinate

conjunction e |

What part of speech is 'massive’ in the phrase 'massive
diasporas'?

A. Noun B. Adverb

C. Adjective D. Verb

(@ Explanation/ €3Ity Massive 6 Adjective e <a
TR | @41 Diaspora (Noun) €3 =¥ 39 e Massive *=i6
Adjective | SFIMTF, HITA *THF *ITF sive, ive, ous, ful, al To5im
Suffix st G ArgRere Adjective 23 |

The tickets are 20 taka each. Here 'each’ functions as a/an ....
A. Verb B. Determiner

C. Pronoun D. Adverb

(@ Explanation/ each 205z Distributive Pronoun.

‘Juvenile’ implies —

A. Sophisticated B. accomplished

C. streetwise D. inexperienced

(@ Explanation// Juvenile- <1 =@ sidS  Inexperienced-
Sfees, Sophisticated-Sresrgfa<, Accomplished-57g, Streetwise
- A fofe |

A person who is 100 years old or older than that is a —

A. century B. hundredth

C. centenarian D. quadragenarian

(@) Explanation// &F& WA AR WA Soo =T A1 O ([* ©ICF @10
=g *reqq | weie Centenarian-*reJdT |

'Being fastidious' is associated spelt?

A. perfection B. appearance
C. tradition D. inurement
Which word is correctly spelt?

A. renaisance B. quotidian
C. etiqueetee D. repetation
(@ Explanation/ 6% I & quotidian, SFIF SPRTTE A%
I ]CeT:-Renaissance, etiquette, Repetition |

Which one is the correct tag question?

A. Nothing is certain, is that?

B. There is something wrong with her, isn't there?

C. Most of them know English, didn't they?

D. You speak Bangla, don't you?

(@ Explanation/ Tag Question 4% ¢Fta A/ Affirmative 20T tag
2d Negetive | @3- 155 Negative 201 tag 2 Positive | =
D @3 J6 Present indefinite tense @ Itz | @&y Auxiliary
verb f&51t3 do & |

What is the meaning of 'on the horizon'?

A. Likely to happen soon B. Seeing something clearly

C. To look for something D. Find out the inner meaning
70n the horizon Idiom 5% arer =it zt5z A2 o=
IR | WQTTQ Likely to happen soon.

[AnsPN
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19.

20.

21.

22.

23.

24.

25.

26.

217.

28.

Find out the incorrect sentence :

A. Prices rose steeply

B. Nuns take a vow of Chastity

C. Voting will take place in May 1

D. Follow in your father's footsteps.

(@) Explanation/ 2 ®ifstes 7t Preposition Reota on 967 | foE
E-c (O SR F in JIxe TR | Oi2 IWH g1 AT
J=m16 =63 Voting will take place on May 1 |

Which one is the synonym of *fictitious'?

A. Genuine B. Argumentative

C. Fabricated D. Scam

(@) Explanation// Fictitious *t7a i g~ | Fabricated -G,
Genuine-%if5, Scam- (FEIAT |

What kind of man is quite the opposite type of ‘affable’?

A. Ill-mannered B. Amiable

C. Polite D. Cordial

@) Explanation/ Affable *itwra =< sRiggfeaier | T fsidre == 11I-
mannered-SPTe | Polite-<%, Amiable-=@f<, Cordial- Gavr= |
She talks as if she — the leader of her community.

A.is B. are C. were D.isto be

(@) Explanation// As if/ as though @3 ¢t ==rret verb 6 Past form
=% | Auxiliary verb fETR ®yg were 73219 27 |

Shipmates of the Ancient Mariner — the dead albatross
around his neck.

A. hanged B. hung

C. hangs D. hanging

(@ Explanation/ Hang *twra wid 7 cream a7 e T wied®
R TS AT | O AT Past @3 Participle ST 26 AT |
«% AF e =g hung 2 |

"To read between the lines' means —

A. to read all the lines

B. to look for the meaning of the words.

C. to read carefully to find out any hidden meaning

D. to read quickly

(@) Explanation// To read between the lines @3 =i¥ 203, 1T 67
3 Ot oo W we fre &7 01 W) To read carefully
to find out any hidden meaning.

The synonym for ‘efface’ is—

A. improve B. wipe out

C. facial D. different faces

(@ Explanation// efface *itwg = ez et | i Wipe out 02
& | Improve-Bgfs &4 |

I cannot part — my books.

A. with B. between C. by D. for

@@ Explanation//Part &% 3t Preposition fZeTta with <671 Part
with- ffozg =1 |

A pilgrim is a person who undertakes a journey to—

A. old cities B. a university

C. a holy place D. a new country

(@) Explanation// 4 SII@ G @RI Al e GG 7B *Mifew
el | 91<€R a holy place |

'Pivotal question' refers to—

A. an irrelevant issue B. the most important issue

C. the most difficult question D. a private issue

(@ Explanation// Pivotal Question wI¥ 47 wwrpef faaw | wdie the

most important issue.

ol feafarsier

of$ AAF1-2023-2024

01.

02.

03.

04.

05.

06.

07.

08.

Read the following extract and answer question 01-08

When we think of intelligent members of the animal kingdom,
the creatures that spring immediately to mind are apes and
monkeys But in fact, the social lives of members of the insect
kingdom are sufficiently complex to suggest more than a hint of
intelligence. Among these, the world of the ant has come in for
considerable scrutiny lately, and the idea that ants demonstrate
sparks of cognition has certainly not been rejected by those
involved in these investigations.

Which one is the acceptable translation of ‘the world of the
ant has come in for considerable scrutiny'?

A. FEIT Tk T0AB FHIR-ARIZET & TR |

B. oo e e (! »RiceTber 20 |

C. Proreima erie R (! DA 2R |

D. fAoreima el (@ Wife (At | Ans[3)
The phrase ‘sparks of congnition' in the extract is used as
alan —.

A. Adjective phrase

B. Noun phrase

C. Adverbial phrase

D. Adverbial adjunct B
Which of the following is the most suitable title for the
extract?

A. Ants vs Humans

B. Human Superiority

C. Ans Intelligence

D. Problems of human intelligence [Ans[@
Which one is the agent noun of "investigation'?

A. Investor B. Investigator

C. Investment D. Investination [Ans][E]

Which of the following contains true information about the

extract?

A. Ansts use the same channels of communication as humans do

B. Ants demonstrate certain spearks of intelligence which are
like those of humans.

C. City life is one factor that encourages the development of
intelligence

D. Ants are precursors to the evolution of humans. Ansz]
Whcih one is the correct adjective form of ‘cognition'?

A. Correction B. Recognizing

C. Coghnitivizing D. Cognitive [Ans[s)

Which of the following is the appropriate menaing of *spring’
in the context of the extract?

A. Atumn B. JOY

C. Season D. Come up

Small waterflow Which one is a correct expression?
A. The life comment was very serious

B. The lively comment of the spectator was very enteraining
C. The conversation was very live
D. It was a live animal

[Ans[s]

[AnsfE]
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09.

10.

11.

12.

13.

14.

15.

16.

Which part of speech is the word "imitative'?
A. Interjection B. Adjective

C. Adverb D. Verb
(@ Explanation// Imitative SFarT | % *%G Adjective, 4T
(G *IT%F T tive, sive, ive, ous, al To7W Suffix AF S

@16 Adjective =3 |

Choose the correctly spelt word:

A. Besech B. Beseech
C. Beseach D. Beseche

(® Explanation// 5% I Beseech- fiafs |

A clever and amusing use of a word of phrase with two
meanings is called-

A. Pun B. Fun

C. Wit D. Satire

@ Explanation/ 9315 *tor 3% wdrR, WL bge ¢ oW | O
A FUART qCT CARTG | Pun-CERANg |

Choose the correct sentence.

A. The dog is laying in the sun

B. The dog is lying in the sun.

C. The dog lays in the sun

D. The dog laid in the sun

@ Explanation/ |ie - T O A QAT FIABT O A
72K ST TS continuous tense 2 |

The train is moving fast enough. The underlined phrase is
alan—

A. Adjective phrase

B. Verb phrase

C. Adverbial phrase

D. Propositional phrase

(@) Explanation/ T Phrase 3 verb & Modify I3 o7 G1%
Phrase f Adverbial Phrase 2 | S~ R fast enough «ft
move (verb) & modify 1% «@ft Adverbial Phrase |

Which one is the correct sentence?

A. Five years has passed since | have sen my friend.

B. Ten thousnds dollars are a fair price for this car

C. Five kilometres is the distance from here to town.

D. A terrible incident was happened yesterday.

(@ Explanation// Subject-verb- agreement @3 g Distance
@ verb f5 Singular =W 1 @=@re money, weight, movie,
book, country, newspaper, Infinitive, Gerund, each, either, every
27 QeTET AR verb singular 2T |

You should dress for cold weather today. The underlined
word isa——

A. Conjunction B. Preposition

C. Verb D. Noun

(@ Explanation// Should 252 Modal verb | &<z St @i, Model
verb @9 %9 IR main verb IGT | THARE JGF Dress =i
Should @3 Itz T «fb verb T T7=iw 2@ |

Hardly had I reached the station when the university bus——
A. left B. had left

C. have left D. leaves

17.

18.

19.

20.

21.

22.

23.

24,

Hardly, Scarcely, No sooner I& <, Hardly,
Scarcely, No sooner ¥ WG Past Perfect Tense &1 @R
Conjunction €3 #&Fet clause T Past Indefinite & No sooner @
¢F@ conjunction f&EIA than =¥ @3k hardly @3z Scarcely €%
¢F@ conjunction T when/ before = |

"To scowl" is to ——

A. look at someone in a angry way

B. smile at someone

C. express your disgust for something

D. express your love for someone

@ Explanation// To scowl phrase B3 w4 w1t facss arifwe wrer
i sI=IaT | Sidie look at someone in a angry way,

There has been certain togue-in-cheek attitude over this
matter. The underlined idiom expresses ——

A. a kind of earnestness B. a serious commitment

C. an amusing take D. a strong conviction

(@) Explanation// Togue in cheek Idiom @3 =i gwraea fFg 2= |
=<fiR an amusing take.

Which is a synonym for ‘regale’ ?

A. Bore B. Tire

C. Annoy D. Divert

(@ Explanation// Regale *itwa &< wiibfa | Bore-ees, tire-+iTifg,
annoy- ANfe, Divert- &S |

Choose an antonym of stubborn:
A. Willful B. Obstinate
C. Inflexible D. Compliant

(@ Explanation/ Stubborn =< @wewm Will  full-T=ige |
Inflexible-S=T==ir, obstinate-Swg, compliant-STgear |

Whcih of the following options is incorrect?

A. When you come to Rajshahi, please see me.

B. He reached London on Friday

C. An accident happened last week.

D. The book is belonged to me

@ Explanation/ |nterrogative sentence @ Subject @F W
Auxiliary verb 07 |

Father has not yet come — home.
A. to B.in
C. upon D. no preposition is required

(@) Explanation// (1T Anea wicd come @AY Preposition I
|

"To pay lip service' is to--

A. remain sincere B. act promptly

C. beautify lips D. serve by words only

(@) Explanation/ To pay lip service- JCIT FATS &l (AT A
efsxpfs (e |

Nobody has eaten yet, ?

A. has they B. haven't they

C. hasn't they D. have they

(@) Explanation//tag Question @7 3Fta Affirmative sentence @3
tag T Negative @32 Negative sentence & tag I Affirmative
2UeTe AHG Negative | ©12 tag =03 Affirmative €= Auxiliary
verb @9 tag 0O (T |
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25.

26.

217.

28.

The synonym of ‘emancipation’ is--

A. servitude  B. thraldom C. bondage D. freedom

(@ Explanation// Emancipation &€ Ife | /@ s == freedom
F/4f&, bondage-IF+ | Servitude-wRTy, thralldom- GT=T=e |
Whcih is not the meaning of 'myriad*?

A. Numerous B. Diverse

C. Mythical D. Unnumerable

(@) Explanation/ myriad-sPidy, mythical-¢T=fss,  Numerous-
9%, Diverse- €@, Innumerable-S7237 |

One of the meanings of 'poignant’ is ——

A. bitter B. heart-rending

C. hopeless D. significant

@@ Explanation/ Poignant-s==T, bitter-fow, hopeless-Si=i&,
heart-rending-2%¥ fms=s, Significant-ofes |

Whcih pair of the words is synonymous?

A. Glaring obvious B. Bloated, shrunken

C. Contingency, impossible ~ D. Empower, forbid

@) Explanation/ glaring-5%5¢®,  Obvious-2, Bloated-(,
Shrunken-1gfo®,  Contingency-SIF4@e!,  Impossible-SF13,

empower-"FIeiz, forbid-Ftay |

VRN USR]

of$ 2A¥1-2023-2024

01.

02.

03.

04.

Read the following extract and answer question 01-08

For more than forty years the cost of food has been rising. It has
now reached a point where a growing number of people believe
that it is far too high, and that bringing it down will be one of the
great challenges of the twenty-first century. That cost , however
is not in immediate cash. In the West at least, most food is now
far cheaper to buy in relative terms than it was in 1960. the cost
is in the collateral damage of the very methods of food
production that have made the food cheaper: in the pollution of
water the enervation of soil, the destruction of wildlife, the harm
to animal welfare and the threat to human helth caused by
modern industrial agriculture.

Which one is the acceptable translation of 'That cost
however, is not in immediate chash?

A. (T2 ¥F6 ST T SICHoFof 77

B. (78 43 ] OIHAT To7 ©f 797

C. (12 ¥Fb S SISHFIT To7m 7%

D. CT% <95 SR OIH{F 77 Ans[®)
Which of the following is the most suitable title for the
extract?

A. Food and their tastes

B. Cost of food

C. The nature of cost

D. Costs of modern industrial agriculture Ans[3]
Which one is the correct noun form of ‘cost'?

A. Cost-effective B. Cost

C. Costance D. Costly
Whcih one is the equvalent of collateral damage'?

A. Mutual degeneration B. Harming each other

C. Fatalities D. Collective loss B

05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

Which one of the following contains true information about

the extract?

A. Several species of wildlife are dechning

B. The taste of food has deteriorated in recent years

C. The financial costs of environmental damage are widely
recognized

D. One of the costs in illness caused by food

Which one of the following is the appropriate meaning of

‘enervation' in the context of the extract?

A. debilitation B. neuroimage

C. energization D. neuroimage Ansiy
Which one is grammatically correct?

A. The prices of everyday necessities were rising?

B. The prices of everyday necessites were raising

C. Therise in the prices were too much

D. They were rising the flag [AnsEy

The prepositional phrase 'in immediate cash’ in the extract is
used as a/an ——

A. Adjective phrase B. Noun phrase

C. Adverbial phrase D. Adverbial adjeunet
Mita is leaning —— the wall.

A. to B. in

C. against D. around

(@ Explanation// Lean against- (XTI (A& |

Pick out the incorrect sentence ——.

A. one of the girls was beautiful

B. Either you or he was absent

C. Each of them were given prizes

D. He and I are friends

(@ Explanation/ Each, either, Neither, Every, many a T verb
5 Singular =71 Option-C ¢® each = tgs verb & Plural
™M | 1% 92 I T |

Choose the correct synonym for ‘ephemeral’:

A. Lasting B. Brief

C. Etemal D. Continuous
@ Explanation/ Ephemeral-F<g[, Brief- e,
AR, eternal-B=@w, Continuous-5eTsIi |

Lasting-

Let's sit under these trees, ?
A. shall we B. will we
C. should we D. can we

@) Explanation/ Tag Question @ ¢tq A6 Affirmative ReeT
tag 2@ Negative ©32 IFTG Negative 21 tag =3 Affirmative |
Imperative sentence €< tag ¢ shall we.

Which is not a synonym of 'recapitulate'?
A. Recount B. Restate

C. Regret D. Repeat
(@ Explanation/ Recapitulate-IT< &1, Recount-={~seler,
Restate->s31%<, Regret- =641, Repeat- 47138 |

What is the noun of the word *vain'?
A. Vainly B. Vein
C. Vanity D. Vain

(@) Explanation/ VVain =6 Adjective, Vain @3 Noun form 52
Varity, TR *[t#g (*I0F ty, ness, hood, tion, ance, ence, dom
Zoyifv ARCeT @IS AT« Noun 27 |
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15.

16.

17.

18.

19.

20.

21.

22.

23.

Kuakata is one of the unique —— which —— a visitor to
watch both the sunrise and the sunset from the beach.

A. spot, allow B. Spots, allows

C. Spots, allow D. Spotlights, allows

(@) Explanation// One of &3 #==el Noun & <=1 Plural &% 1 @R
Relative Pronoun @3 %@ Antecedent SRR o verb fite
qI

What does the word 'mitigate’ mean?

A. Intensify B. Aggravate

C. Alleviate D. Complicate

(@) Explanation/ Mitigate-e™ifre 1, Alleviate- €=*1%; Intensify-
$I9, Aggravate- Stafers, complicate-Sfbe |

What does the idiom 'jump on the bandwagon' mean?

A. Criticizing popular trends

B. Joining a popular activity or trend

C. Avoiding public attention

D. Refusing to follow the croed

(@ Explanation// Jump on the bandwagon Idiom @3 W< &=
FAET @I 47 |

Which word is a synonym for *superfluous'?

A. Necessary B. Redundant

C. Crucial D. Essential

(@ Explanation// Superfluous- wfefa®, Redundant- ela&A,
Necessary-2Te=, essential- S+, Crucial-er@ eI |
For a moment the girl stood speechless, The underlined part
isalan ...

A. Adjective B. Noun phrase

C. Determiner D. Adverbial

(@ Explanation// Subject @31 #td &Y Adverb TS 1T | ToAR 4
Mty for a moment el Adverbial Phrase |

Choose the correct passive form: [Sara baked the cake.]
A. Sara bakes the cake

B. The cake was bake by Sara

C. The cake was baked by Sara

D. The cake was baking by Sara

[S[@]why]Past Indefinite tense «¥ Active (& Passive voice
FACS O |

34: Subject + was/sere + v; + by + Object.

Which sentence is punctuated correctly?

A. She likes oranges, however, she dislikes apples

B. She likes oranges; however, she dislikes apples
C. She likes oranges however she dislikes apples

D. She likes oranges however, she dislikes apples Ansp)
Fifty percent of his monthly income goes ——food

A.on B. in

C. with D. by

@) Explanation// (17 g (/03 TTHIN Az 9G¥ WL ©fF E on
T |

The meaning of the word ‘exponential’ is ——

A. becoming more and more know

B. becoming more preise

C. becoming more and more rapid

D. beocming more apparent

(@) Explanation// Exponential < T5IYeTe et 1 3507 |

24.

25.

26.

27.

28.

Nelson Mandela is at epicenter of our time, ours in South
Africa, and yours, wherever you are." The meaning of the
underlined word is—

A. Cynosure  B. Margin C. Periphery  D. Nexus

(@ Explanation// Epicenter-c&@fT, Margin-icasl, Periphery-
Affe |

Which word is an antonym of 'querulous’?

A. Argumentative B. Complaisant

C. Contentious D. Irritable

(@ Explanation// Querulous- &=, Argumentative- SIS,
complaisant- SIS, Contentious- RFRFS, Irritable- RGRTE |
What part of speech is 'rare'?

A. Adverb B. Adjective C. Preposition D. Noun

(@ Explanation/ Rare-f4==1, Rare =t Adjective | Noun &3 (71,
@, ST, I T O Adjective I |

What does the idiom ‘when pigs fly* imply

A. Someghing is about to take place

B. Future seems bright

C. Something will never happen

D. Something is alluring

(@) Explanation// When Pigs fly idiom @3 w¢ S WG Q3 |
=1¢fie something will never happen.

What does the expression "burn the midnight oil' mean

A. To work late into the night

B. To set something on fire at midnight

C. To waste time in the evening

D. T o sleep early

@ Explanation// Burn the Midnight oil =< 3T e Ter il | Wi
To work late into the night |

ool feafarsIeRT

o A F1-2023-2024

01.

02.

Read the following extract and answer questions 01-08 :
Forests are one of the main elements of our natural haritage. The
decline of forests over the last decades led to an increasing
awareness and understanding of the serious imbalances which
threaten them. People are becoming increasingly concerned
about the major threats to forests, threats which know no fronties
other than those of geography or climate: air pollution, soil
deterioration, the increasing number of forest fires and
sometimes even the mismanagements of forest herigate.

Which one uses 'forest’ correctly as an adjective?

A. The stay in a forest house

B. We like forests

C. Forests are lovely but sometimes dangerous.

D. This is a deep forest. Anspy
Which of the following is the most suitable title for the
extract?

A. Forest management

B. Importance of forests

C. Concerns about the decline of natural forests

D. Forests vs humans B
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03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

Which one is the correct verb form of deterioration'?

A. Determine B. Degmeration

C. Deteriorate D. Territory [Ans[@}
Which one is grammatically correct?

A. They threated me

B. | felt threatened

C. Threats is always stressful

D. Threating type children is bad

Which one of the following contains true information about
the extract?

A. Forests are the source of raw material

B. The biological functions of the forests are significant

C. Natural forests still exist

D. Forest problems are to be discussed regularly Ans]}
The clause 'which threaten them" in the extract is a/an —

A. Adjective clause

B. Noun clause

C. Adverbial Clause

D. Co-ordinat clause AnsPy
Which one of the following is the appropriate meaning of
'frontiers' in the context of the extract?

A. Fronline people B. Places in front

C. Fashionable items D. Boundaries Anss)
The grammatical funciton of the phrase 'The decline of
forests over the last decades’ is that of a/an ——.

A. Adverb B. Adjective

C. Gerund D. Noun
The chairman is ill an we'll have to —— the meeting for a
few days.

A. puton B. put of

C. put away D. put off

(@ Explanation/ Put off- Zfore i, e i |

I taught myself French. The underlined isa——

A. Relative pronoun B. Personal pronoun

C. Reflexive pronoun D. Possessive pronoun

(@ Explanation// Myself-2t®z Reflexive Pronoun. @=rer our self,
yourself, himself, itself, Themselves, herself Tejifr Reflexive
Pronoun ¥ SwIge |

Even a—— glance will reveal the mystery.

A. crude B. critical

C. cursory D. curious [Ans[€}
Lions are carnivores. Here ‘carnivore' means ——

A. Plant eater B. Fish eater

C. Meat eater D. Vegetarian

(@) Explanation/ Carnivore &< I (meat eater)

Identify the correct sentence:

A. My and my friend went ot the park
B. My friend and we went to the park
C. My friend and | went to the park
D. I and my friend went to the park.

(@ Explanation// @314 Pronoun sMsiif< <#iceT 231 sequence
ST T TS 2T |

14.

15.

16.

17.

18.

19.

20.

21.

Something pathological is —.
A. impossible to control B. under examination

C. arising form pathos D. creating diseases
(@ Explanation// something pathological =¥ Gt el T Gt
tsfa 33 | 94T creating disease

One of the meanings of "prolific’ is ——
A. unproductive B. fertile
C. scarce D. stagnant

(@ Explanation// Prolific- F=12%, Fertile- T4 |

Which one is the imperative sentence?

A. May she live long.

B. How beautiful the bird is!

C. Do you like tea?

D. Do not waste your time.

(@) Explanation/ (FICHT 1] BT SITHH, A, e, oo
@RI TG Imperative 16 &2 | Imperative 1T verb &R 9% 17 |
What does the expression hit the nail on the head" mean?

A. to miss the target

B. to find the perfect solution or explantion

C. To intentionally cause harm

D. To avoid making mistakes

(@ Explanation// Hit the nail on the head =¥ it foga fasyet
Tt [ A {eer (@7 ¥4 1 9g to find the perfect solution or
explanation.

'Retrieval’ is the process of getting something ——
A. done B. invented
C. discovered D. restored

@) Explanation/ Restored- =&« 41; Retrieval- & |

Find out the correct sentence:

A. | was greeted with shouts of joy

B. | have luggage, but its not too heavy

C. He felt that he has to do something.

D. Would you mind come back later please?

@) Explanation/ Greet @3 3t Preposition Rt with 67 | greet
with SIfSwa eI |

What does the statement ‘Do not cry over spilled milk'
imply?

A. do not let the present rule your life

B. Do not let the past rule your life

C. Do not let others rule your life

D. Do not let the windfall rule your life.

(@ Explanation//do not cry over spilt milk =¥ ax7 TG & 77
R I Ae (@2 A Bfowxy T (o7tg | W Do not let the Past
rule in your life.

Identify the sentence with the correct use of a relative
pronoun:

A. The man who car broke down called for help

B. The man whose car broke down called for help

C. The man who car broke down called for help.

D. The man which car broke down called for help.

(@ Explanation/ Relative Pronoun &3 =t @ Antecedent 21t
@32 (72 Antecedent & A S Relative Pronoun.
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22.

23.

24.

25.

26.

217.

28.

Which of the following is correct?
A. | need to buy a few furnitures

B. I need to buy some furniture.

C. I need to buy furnitures

D. None of the above

(@) Explanation// Furniture uncountable noun I uncountable noun
@3 AR s/es & &I A | €7 =ITF a/an IGT 9 932 Number I0T 1 |
A philologist deals with the development of ——

A. Philosophy B. Philanthropy

C. Language D. Knowledge

@ Explanation/ philologist- SrERes |

'Bear out' means —

A. withstand B. defat

C. support firmly D. withdraw

(@ Explanation/ Bear out- 3114 < |

Choose the correct menaing of 'perfidious':

A. Loyal and trustworthy B. Deceptive and untrustworthy
C. Eager and ambitious D. Brave and courageous

(@ Explanation/ perfidious - fymrares |

Choose the right antonym of 'auspicious":

A. Promising B. Optimistic

C. Opportune D. Ominous

(@ Explanation/ Auspicious- J2PT; Ominous- e |

What is the antonym of *abstract'?

A. Eradicate B. Dent

C. Efface D. Tangible
Choose the correct sentence:

A. Neither of the books are intersting

B. Neither of the books is intersting

C. Neighter of the book are intersting

D. Neither of the book is intersting.
(@ Explanation// Neithe/Either + of + noun (P) + v(s)

VRN USR]

of$ A F1-2023-2024

01.

02.

03.

'‘Dog Days' means—

A. misfortune B. hot weather

C. rainy days D. carefree

(@ Explanation/ Dog day @I¥l 1A% WRRNGATF (AT | w4 Hot
weather.

Which one is correct?

A. Atable’s leg B. Aman's leg

C. A sheep's heart D. A car door

(@ Explanation/ % ST T A man's leg | f&g GRee= -1,
(YR Tv, NS SET Qeter @& Expression.

Baby : Adult :: Sapling : —

A. Bush B. Plant

C. Tree D. Seed

(@) Explanation// Baby-fe; Adult-2lieaa® | widfe e @ww eieqws

2 | (N Sapling (51T T tree (A1R) =7 |

04.

05.

06.

07.

08.

09.

10.

11.

My family members do not like tea and —
A. neither do | B. | don't too
C. | do neither D. neither | do

@ Explanation/ Negative Agreement- &< @:

(i) Subject + Auxiliary Verb + not + either.

(ii) Neither + Auxiliary verb + subject

The study of ancient societies:

A. Anthropology B. Anthology

C. Archacology D. History

(@ Explanation/ I iees faw Ry s v oite
Archacology ¢ |

I hope that the rain will —for our picnic tomorrow.
A. stay away B. stay out
C. keep off D. set back

(@ Explanation// ST St 7ifR | Sl Si<pleT qwCTeCTa N B T
I | AR I AT =L keep off 21 |

The antonym of the word "infatuation® is —

A. Apathy B. Celebrating

C. Separation D. Psychopath

@ Explanation// Infatuation- G | I fAATT® == apathy- SARTH |
If | — a more reliable car, then | — to Dhaka father than fly.
A. would have, would drive

B. had, would drive

C. would have had would drive

D. had, had driven

(@ Explanation/ 2nd condition &3 fezrar:

If + Past indefinite.................
Subject + would/could/might + v, +
They — my proposal.

A. turned away B. turned out
C. turned down D. turned off

(@ Explanation/ Turn down IF eyl i | AR W ©il
S AW ST AR |

Something — very good.
A. smelled B. smell C. smells D. Seemed

(@) Explanation/ Something (T TR subject RCT TR A
verb singular 2T | edre A5 Tex 20 smells.

Before you gave answers, sir —them to us.
A. sent B. had sent
C. was sending D. would send

(@ Explanation/ Before 3% clause % Past indefinite =T @71
clause f6 Past perfect tense 23 |

Answer questions 12-15 based on the following passage :
There will hardly be anyone who will be ignorant of the name of
cryptocurrency. For the last few years, cryptocurrency has
become very popular all over the world. Its craze in Bangladesh
has also increased very fast. It's nothing but a digital currency
that is based on blockchian technology. Some popular
cryptocurrencies are Bitcoin, Binance coin, Ethercum, XRP ect.
The most importnat thing about this currency is that it's
completely decentralized, which means that there is no control of
any country over it, that's why mqgny countries still consider it
illegal, but recently India has considered it legal.

It's such a currency that doesn't exist in physical form, but with
its help, you can buy any goods and also do investing and trade.
When a transcation takes place, it's monitored through powerful
computers, which is called cryptocurrency mining in another
language.
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12.

13.

14,

15.

16.

17.

18.

19.

20.

Cryptocurrency is based on —
A. All technology

B. Computer technology

C. Information technology

D. Blockchain technology B
The meaning of '‘Cryptocurrency is decentralized'—

A. regulated currency

B. control of IMF

C. no control of any country

D. currency sanctions Ans[¢
Cryptocurrency mining means—

A. cryptocurrency investment

B. gold mining y powerful computers

C. money circulation by powerful computer

D. governing transactions by powerful computers D)
Cryptocurrency can serve as—

A. store of value B. medium of exchange

C. unit of account D. all D
As the sun—. | decided to go out.

A. has shined B. had shined

C. was shining D. shined

(@ Explanation/ As I clause % Past continuous tense ZCT X9
clause f Past Indefinite tense =¥ |

Javed was leaning —— a lamp post.
A. against B. for
C. before D. by

@ Explanation// Learn against- (2T (&3 |

They synonym of 'jeopardy”’ is —
A. peril B. sluggish
C. existing D. Ptotest

@ Explanation// Jeopardy *itd wd- fFsm | A LS * Peril
(fom) |

Half of the glasses— broken.
A. are B. not
C.is D. be

@ Explanation// fraction, Percentage @ ¢¥t@ el Subject
SIS verb 2 | (R QI “REe subject plural S12 verb =G plural.
Choose the correct sentence —

A. Neither of the statements are correct.

B. Neither of the statements were correct.

C. Neither of the statements are to be corrected.

D. Neither of the statements is correct.

(@ Explanation// Either, Neither, every, each st 1t subject
(e && I verb singular TR |

of$ 2q¥1-2023-2024

01.

The doctor suggested that his patient who is suffering from

dengue —— this medicine.
A. take B. takes
C. not takes D. took

(@ Explanation// Subjunctive verb @ (g subjunctive word €
/17 that AT 77! verb & 912 Base form @ =31 that
ABCE 10 + v; W IR W ANCS =0 930 clause @9 subject
w=i1E oy fog zte 20q |

02.

03.

04.

05.

06.

07.

08.

09.

10.

—— the year 2009 and 2014. | was a student of the
University of Chittagong.

A. From B. Since

C. Between D. Both

(@ Explanation/ T*tE G @RI (QIRITR, w0s (AF 058
AT TGS AN (7 veA [fwrem =W 2o S5 TNEw
TS AT (@R FIAC QAT Between IR A |

Global warming—— by emissions of greenhouse gas.
A. caused B. is occured
C. is caused D. has caused

(@ Explanation/ (A%< Tl fte e =10 11 (I A (@ S0
GBT T AT | ©I2 IHT Passive voice =(J |

Rana gave up —— football when he became injured.
A. play B. playing
C. to play D. played

(@) Explanation// Preposition & el verb & R v + ing
2@ | 7oA playing 76w e |

The candles have been blown —— by the wind.
A. out B. away
C. of D. up

@@ Explanation// Blown out- =< (YOI | &teie R et wid-
AR T FICLED [0S (e |

Dhaka has become one of the ——cities in Asia.
A. busy B. more busy
C. busiest D. most busiest

(@ Explanation// one of the €< 7t superlative degree T<x® 2 |
busy 43 superlative degree 2% Busiest.

If I hadn't studied hard, | —— the admission test.

A. wouldn't pass

B. couldn't pass

C. wouldn't have failed

D. wouldn't have passed

(@ Explanation/ 3rd conditional sentence «¥ famrgaid If &
Clause T Past Perfect tense 2% @3t %1°i@ clause & would/ could/
might + have + v3 2T |

The candidate is—— nervous to speak.
A. very B. extremely
C. less D. too

(@ Explanation/ TCiffe W @Ml S t00....t0 IR T |
U@ to ©F RIS W [@oifoe e o |

It was evident that the damage was very serious. The
underlined word can be replaced by:

A. obvious B. uncertain

C. invisible D. hidden

evident *twg =g ~8 | TF LT = obvious
("), Uncertain- (S[5®), Invisible (I77%(7), hidden- ¢ATo |

In response to your advertissment —— in the Daily Star, |
would like to apply for one of the positions.

A. published B. which published

C. was published D. publish

(@ Explanation/ 720! clause (F I& FC© W= GG conjunction
=Tl | Option B =%l SI¥ W Option @ conjunction (72 |
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11.

12.

13.

14.

15.

Which word is incorrectly spelt?
A. headache B. miser

C. recommend D. resteurant
@ Explanation/ Resteurant IAAG @1 @BE  AGF  I@H
Restaurant.

The director said that he ——.
A. knew me for a dicade

B. had known me for a decade

C. has know me for a decade

D. has to know me for a decade

(@) Explanation// Principle clause past tense @ a1 Sub-ordinate
clause > @72 Past tense @ ¥ | GTH@ Past Perfect Tense &
RO |

I need some books, ——?
A. needn't | B. need |
C. don't | D. won't |

(@ Explanation// Tag Question @ ¢t A6 Affirmative Q1w
tag 2@ Negative @3 I Negative 20T tag =63 Affirmative
a3 Auxiliary verb @ tag 9C® =1 Auxiliary verb s A1
tense ST Auxiliary verb ITS T | Present tense ¥F CFt@
do/ does ¥R Past €< (%@ did =7 |

Climatologists are of the view that afforestation can protect
us——

A. from destroyed

B. from having destroyed

C. for being destroyed

D. from being destroyed

(@) Explanation/ SRRSO TS, FRHREAT WA RSTAE
QST (ATF TF FACO A |

Neither Mily nor Lily —— qualified for the job.

A. are B. is

C. have D. has

(@ Explanation/ Neither.............. Nor &3 C¥q verb €3 IR
Subject SRR verb fite =W | «wrw@ lily @tz Singular | ©1%
verb ®(F Singular.

BOATY fefarsIer

oS A ¥1-2023-2024

01.

02.

The guls were sorry to had missed the singers when they
A B C

on my trip at the airport.
D

@ Explanation/to &9 °}1 AT verb & Base form = | ©1%
Option B ¢ had 23 711 | had @9 “f&CS have 2 |

Nasrin said she would borrow me her new movie camera if |
A B

wanted to use it on my trip to Europe.
C D

@ Explanation// Borrow &< €19 a1 o Lend @< 419 (e |
Nasrin SIF ST €19 5t | ©1% Borrow @ #IfS<C Lend T3 |

03.

04.

05.

06.

Read the passage given below and answer the questions 03-06:
Simone de Beauvoir’s work greatly influenced Betty Frienan’s-
indeed, made it possible. Why, when, was it Friedan who
became the prophet of women’s emancipation in the United
States? Political conditions, as well as a certain anti-intellectual
bias, prepared Americans and the American media to better
receive Friedan’s deradicalized and highly pragmatic The
Feminine Mystique, published in 1963, than Beauvoir’s
theoretical reading of women’s situation in The Second Sex. In
1953 when The Second Sex first appeared in translation in the
United States, the country had entered the silent, fearful fortress
of the anti-communist Mccarthy vyears (1950-1954), and
Beauvoir was suspected of Marxist sympathies. Even The
Nation, a generally liberal magazine, warned its readers against
‘certain political leanings’ of the author. Open acknowledgement
of the existence of women’s oppression was too radical for the
United States in the fkfties, and Beauvoir’s conclusion, that
change in women’s economic condition, though insufficient by
itself, ‘remains the basic factor’ in improving women’s situation,
was particularly unacceptable.

According to the passage, Beauvoir’s book asserted that the
status of women—

A. is the outcome of political oppression

B. is inherently tied to their economic condition

C. can be best improved under a communist government

D. is a theoretical, rather than a pragmatic, issue

(@ Explanation/ “IItee wa% @ economic condition (&
Inherently fied RRETE SITeTv® 2@TCR |

Which of the following is not a factor in the explanation of

why The Feminine Mystique was received more positively in

the United States than was The Second Sex?

A. By 1963 political conditions in the United States had changed.

B. Friedan’s book was less intellectual and abstract than Beauvoir’s

C. Readers did not recognize the powerful influence of
Beauvoir’s book on Friendan’s ideas.

D. Friedan’s approach to the issue of women’s emancipation
was less radical than Beauvoir’s.

(@ Explanation// Passage €1 ¢ #T13 SICT «<2 &0 Not a Factor

T A5 T&7 @ B |

The author quotes from The Nation most probably in order

to——.

A. modify an earlier assertion

B. point out a possible exception to her argument

C. illustrate her central point

D. clarify the meaning of a term

(@ Explanation/ *HITTCE &Y FIRCT central point (& AT 1

RCEACR |

According to the passage, one difference between The

Feminine Mystique and The Second Sex is that Friedan’s

book —.

A. rejects the idea that women are oppressed

B. provides a primarily theoretical analysis of women’s lives

C. does not reflect the political beliefs of its author

D. oncentrates on the practical aspects of the question of
women’s emancipation

(@) Explanation/ “ITeTCer 59 AR Fridan &9 I8 It =11 SIiCR

highly Pragmatic i< highly Practical |

4 ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢« ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢




18

A Blue book of Competitive English Grammar

ASPECT SERIES

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

Ulysses is a/an —— written by ——

A. play, William Shakespeare

B. novel, Charles Dickens

C. novel, James Joyee

D. epic, Virgil

(@) Explanation/ Ulysses 252 James Joyce &3 (=141 @55 Novel |
‘Nest, kennel, feather, burrow’. The odd word in this group
is ¢ %,

A. kennel B. nest

C. feather D. burrow

(@) Explanation// Nest (A1 TFTN), Kennel ($Fca A1), feather
(1R #11=1%), burrow ( T=5 &It ST #ted @ T8 (2ifte GiB) |
AR @It odd *CH= Feather.

Who is a netizen?

A. a bad citizen

B. one who uses the internet

C. one who is not a citizen of a country

D. a citizen of Nottingham

(@) Explanation/ TG JARTFIAITA Netizen 9T =7 |

Rabbi would certainly have attended the meeting s
A. if he didn’t get a flat tire B. if the tire hadn’t happened
C. had he not had a flat tire D. had the tire not flattened itself

(@ Explanation// 3rd conditional &= faiard If T clause & Past

Perfect T @32 912 clause 5 would + have + v; T |

The original inhabitants of a country are called —.
A. natives B. aborigines
C. primitives D. citizens

@ Explanation/ &G (e Wi wfkREzrECE wifmaAitT A
Aborigines I=1 27 |

Homophones are two or more words that have the same —
A. pronunciation but different meanings

B. meaning but different pronunciations

C. spelling but different meanings

D. spelling but different pronunciations

(@) Explanation// Homophones el @%8  SIRept=ig =itws W fog
26T |

Which is not a play?

A. The Tempest B. Doctor Faustus

C. Pride and Prejudice D. Volpone

(@) Explanation// Pride and Prejudice xe=Tr <% Novel.

He fought to defeat the enemy.
A. tooth ahd nail B. to and fro
C.allinall D. ins and outs

@ Explanation// Fight tooth and nail =i¥ = @fid=itel I < |
TS AT WL AP FACS Al I FACS (A |

b

‘Shrine’ is to ‘pilgrim’ as ‘peak’ is to *
A. contestant B. crucial

C. climber D. descender

(@) Explanation// Shrine (S14E) @ A Pilgrim (S1daid) @ [
Pilgrim (SI€I@), W@ e Peak (714Tea pot) @ ©to Climber
(PRSI

Robert Frost is a/ an —— poet.
A. British B. Irish
C. Scottish D. American

(@) Explanation// Robert Frost @&« American Poet.

17.

18.

19.

20.

21.

22.

23.

24,

25.

‘To have other firsh to fry’ means ¢ i

A. to have more important things to do

B. to fry fishes

C. to remain busy

D. none

@ Explanation//to have other fish to fry ¢ 2tz wixe wedr fog
S¢fR to have more important things to do.

The idiomatic version of ‘I am not that naive’ is ‘——.
A. | am arrogant B. I can predict everything
C. I was not born yesterday D. none

(@ Explanation//| am not that have =< SIfY BT et 1 | wile

oIfY BEF 599 | SUWCE | was not born yesterday. @3 oiff 20
iy wfew a7 @AF 92 |

The synonym of ‘fussy’ is !

A. uncomplaining B. patient

C. choosy D. stoic

(@) Explanation/ Fussy-4®4C®, choosy-4®4C® |

Those students do not like to read novels, —— text books.
A.in any case

B. forgetting about

C. much less

D. leaving out of the question

(@) Explanation/ e =1 A1 B@IR ol AR w1 @3 wed much less
TR 2 | AR @R R Novel TGre 2'™W & 1 | ETRITT
textbook (ST i< <27 |

A congenial work environment enables workers to perform
better. The antonym of the underlined word is ——

A. friendly B. easy

C. hostile D. solitary

(@) Explanation/ Congenial- Si%=T, hostile-eifogeT |

Giving undue favours to one’s kith and Kkin is called .
A. nepotism B. favouritism
C. formalism D. meritocracy

@) Explanation/ SEITAGNE SAWTONI AP ARL ST
Nepotism Al FE=Ife e |

‘To be or not to be’ is the dilemma of Hamlet. The underlined
word can be replaced by ——

A. question B. confusion

C. problem D. guess

@) Explanation//to be or not to be that is the question- &f& Hamlet
a7 @3f5 e Ofe |

Choose the correct sentence:

A. The terrorist as well as his accomplices are going to prison.

B. Neither of the two traffic lights are working.

C. The number of volunteers grow every year.

D. Two-fifths of the forest was destroyed by fire.

(@) Explanation// Fraction a1 SRIC*= (@ el subject St
verb I67 | A% option @Te QTG e |

The major concern among archaeologists today is the
preservation of archaeological sites, —— are threatened by
development.

A. many of which B. many of them

C. of which many D. many

(@) Explanation/ €T is €. are JUGT verb TR | ©1F @< clause
marker #IFIF |
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26. An ‘elegy’ is a : Negative agreement €< Structure-

A. satire B. limerick i. Neither/ nor + Auxiliary verb + subject

C. romantic song D. poem of lamentation ii. subject + auxiliary verb + not + either

(@) Explanation// Elegy 052 (<1114t / poem of lamentation 06. If I were you, | —— a new car instead of struggling with this
27. When she parted — her parents, her eyes were full of tears. old one.

A. with B. to C. from D. off A. have bought B. was buying

(@) Explanation// Part from- (=TT 23 C. had bought D. would buy

28.

29.

30.

01.

02.

03.

04.

05.

China has the world’s largest canine population. Here the
underlined word is connected with——

A. dogs B. snakes

C. tigers D. cats

@ Explanation// canine &3 WY R(R TF4 IS |

A book of words and their synonyms is called a ——.

A. thesaurus B. dictionary

C. etymology D. collocation

(@) Explanation// T4 =t SfSIC thesaurus T &7 |

A person who writes or edits a——is called a lexicographer.
A. letter B. book

C. dictionary D. newspaper

(@) Explanation// (@ & Dictionary et a1 F=iwell S, ©ICF
lexicographer <=1 R |

Although it can be derived —— oil, coal and tar, kerosene is

usally produced —— refining if from petroleum.
A. from/by B. in/from
C. at/on D. near/long

@) Explanation/ Derive &= Itd Preposition RReia from <0 |
Derive from- Tg® |

No —— fifty people died —— the accident.

A. less than/by B. fewer than/in

C. less then/in D. more then/in

@ Explanation/ than 2T comparative degree TWI @R
countable noun €3 =¥ comparative form &G fewer I0T |
Accident ¥ T=1 e =g die in 67 |

The Lation word “circa’ means:

A. about B. across against

C. against D. secret

@ Explanation// Circa means-&T¥ |

'sub judice' refers to ——.

A. The cases which can be discussed in the media

B. The cases which cannot be discussed in the media

C. The cases which are against the state

D. The cases which are in favour of the state

(@) Explanation// Sub-judice W< G case T (TG 7MW AT
NIGIPRIEIN

Quite a few students don't study hard,

A. nor do they take part in games and sports

B. nor they take part in cultural activities

C. neither they take part in games and music

D. either do they take part in games and sports

07.

08.

09.

10.

11.

12.

13.

14.

15.

(@) Explanation// 2nd conditional = If + Past indefinite + Subject +
would + v,

The magnificent —— temple was constructed by the
Chinese.

A. eight-century-old B. eight-century's old

C. old-eight-centuries D. eight centurey-old

@) Explanation/ Hyphenated Adjective ST Plural xea =1 | wide
a™S A s/es T& Q0 |

A person who studies the history of languages in a ——

A. philanthropist B. philologist

C. philosopher D. playwright

(@ Explanation/ @ 5f& ©raIw Efe=i 7ItE #te ©it philologist

T |

Climate shifts disrupt farming and —— thousands of species
of animals and plansts.

A. make up B. wear off

C. wipe out D. put across

(@) Explanation/ Wipe out W< S5felta <37 1, Y02 (el |

It is necessary that she —— the books.

A. finds B. will find

C. finding D. find

(@ Explanation// Necessary <35 Subjunctive word. Subjunctive
word 9F 7% that QIRCeT A= verb 6 57T base form =9 |

In what type of habitat does a polar bear reside?

A. Jungle B. Desert

C. Tundra D. Savannah Ans[@
—for your co-operation, she would have failed.

A. But B. In case

C. Without D. Despite

@) Explanation// But for - =ieT 1 few |

Sweet —— the uses of adversity.

A.is B. has

C. are D. was

(@ Explanation/ Sweet are the uses of adversity- 7s03s A7 I
ST |

One who eats human flesh is ——.

A. a ghost B. a cannibal

C. avampire D. a blood-sucker

(@) Explanation// (X LR 1< LI ©ITEF cannibal (F4WE) 0T |
Identify the pair of words opposite meanings (antonyms)
A. Enhance and improve

B. Proceed and continue

C. Expand and contract

D. Begin and initiate

(@) Explanation/ Opposite Pair- Expand (&%) @<k contract (3f%) |
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

The Team condructed a/an —— analysis of the market
before lunching their new product.

A. cursory B. exhaustive

C. trivial D. superfluous

(@ Explanation// Exhaustive ¢ 2oz 3¢ | welG rertsr sT~ic syeirsr
e stz |

Last year Mr. Mizan earned —— his brother, who has a
better position.

A. twice as much as B. twice more than

C. twice as many as D. twice as more as

(@ Explanation// Once, twice QTR (370G as much as T 2 |

Only after attending classes at a public university ——.
A. |l learnt a lot B. | have learnt a lot

C. did I learned a lot D. did I learn a lot
(@ Explanation/ Only after I& <G Inversion ¥ | TG @:
Negative adverb + Auxiliary verb + subject + main verb

'‘Quorum’ means —.
A. additional number B. number

C. inadequate number D. required number

(@ Explanation/ Quorum =< wecarEA AT wdie required
number.

The word ‘oligarchy’ refers to ——.

A. government by a small group of verb powerful people

B. government by a large group of very powerful people

C. government by a small group of the have-nots

D. govenment by a large group of affluent people

@) Explanation/ Oligarchy @Idl IR | 9% *fe=&r e @i
(=T vt i SAfpifeTe T |

There is no credit in earning money illegally. Here the
underlined word is ——.

A. an infinitive B. past participle

C. agerund D. present continuous

(@) Explanation/verb @3 T ing T& M noun @ FIe FCT O
@16 Gerund =7 |

Choose the word that best defines "prosaic':

A. ordinary B. exotic

C. nundane D. ostentatious Ans[@
Your father should not put so much pressure on you. He
must not choose your friends —.

A. too B. as well

C. either D. neither [Ans[@}
oh, no! I'm in the wrong classrom again, ——?

A. aren't| B.aml

C.isit D. don't |

@ Explanation// tag FCe = Auxiliary verb &3 | Atwr Auxiliary
verb ®t® am | am «< tag ¢ Aren't 1.

What sound is attributed to a lion?
A. growl B. hoot
C. chirp D. squeak

@) Explanation//Lion &= 3 growl 3™fF® | growl- & |
'A chiche' is s
A. an overused expression
C. a universal truth

B. a novel expression
D. a clear expression

27.

28.

29.

30.

01.

02.

03.

@ Explanation// A chiche @Al (R wfeqage wieaife widie an

overused expression.

Physical geographers study soil because of its fundamental
position —— the ecosytem and its impact —— human
activities.

A. above/on B. in/on

C. from/at D. over/inside

(@) Explanation/ (ST FRa Ty (IRITCS in @R T (@RATS on
FREA |

Louis Briaille designed a form of communication enabling

A
to convery and preserve their thoughts toincorporate a
B C

series of dots which were read by the finger tips.
D

(®) Explanation// a series (s) = v (s) X |
Karim always arrives lately for hsi physics class even though
A B C

he leaves his hall in plenty of time.
D

(@ Explanation/ arrives 22 verb | W verb & modify
adverb | Late fiteig Adverb ©i2 Lately @3 #R_0S late T3 |

While verbalization is the most common form of language in
A

make

existence humans of

B

others systems and technigues to express their thoughts and
C D

use many

feelings.
(@) Explanation/ @21t Other *%(G Adjective | &I Adjective €=
A s/les A |

=TOd AN T AURO
OfF “IqRPI- 03938

Do as | say. ldentify the underlined clause.
A. Noun B. Adjective
C. Preposition D. Adverb

(@ Explanation/ Verb (& (S T/ Freid e &% e e
clause T€x #ifexr (3t @I Adverb clause = | qere as I&
clause & srers Adverb clause 23 |

Choose the correct sentence.

A. He bought a three hundreds-dollar suit.

B. The headmaster and Secretary were present at the meeting.

C. You look as though you are expecting some bad news.

D. She would rather not attend the programme.

would rather, had better Q&TsIwr %<1 verb @1 base
form =¥ | SMHWE as though @3 77 was @3 #R_CS were TJ |
And =T Singular 223 | Hyphenated adjective ¥l plural eI €1 |

Two-thirds of the people —— present in the congregation.
A.is B. was
C. were D. beign

(@) Explanation/ ST “F<S! Subject SR verb =1 Pepole
@wxg Plural ©12 verb 273 plural | o412 were A5 T |
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04.

05.

06.

07.

08.

09.

Choose the incorrect sentence.

A. Neither you nor he is in a crisis.

B. He refrained himself from taking any medicine.
C. He resembles to his father in appearance.

D. He was hanged for murder.

(@ Explanation/ resemble @ 2T Preposition I@T w1 JodiR
Option-c ¢ resemble @3 #IF to MY IHH o AR |

Yet, ensuring drinking water, cleanliness and hygienc was
abling challenge. Here, "Yet' is a/an ——

A. adverb B. conjucntion

C. adjective D. Preposition

@ Explanation/ Yet 9% Adverb @R A1t Adverb fReTe araze
qI

Read the passage and answer the question that follow
(questions 06-10):

The primary purpose of eduction is to make our lives easy and
beautiful in all aspects. However, if we analyze the actions done
and the endeavours undertaken by the educated people of all
times, we find that those have not always been beneficial to
humankind; some have even threatened the existence of human
beings. Thus, education at many times has failed to serve its
primary purposes. Why does it happen? Education gives us
knowledge and skills, and eventually provides us with power.
This power sometimes turns us into monsters and, sometimes,
angles because the power of education can be used both for good
and evil purposes depending on the intention of its users. The
wars, for example, that took the lives of billions of innocent
people were waged and executed by the educated people.
Heinous scams and horrific incidents of curruption were also
committed by the individuals having high academic degrees
from world famous institutions. So, education does not always
guarantee beauty and ennoble us unless it is imbued with
morality, ethics and humanity.

Choose the most suitable title for the passage.

A. Benefits of education

B. Bad effects of education

C. Reconsidering the objectives of education

D. Importance of education for human beings.

(@) Explanation// Passage 4 YT R Srerely oama Koo Fare
T I | ©1% Suitable title 263 | Reconsidering the objectives of
education.

Having a degree from world based on the passage.

A. helpful B. mandatory

C. beneficial D. important

(@) Explanation/ Passage @ <& Wtz | High academic degree @it
TAFE WAlfe TAMRE | o2 Nobel Person %I Degree Reqt
mandatory € |

The word 'imbued’ in the passage means—

A. spread B. immersed

C. infused D. structured

(@ Explanation/ Imbued *¥fG Passage Selifa®/infused s
IR AR |

This passage encourages us to — the existing education
system.

A. discard B. follow

C. recast D. promote

10.

11.

12.

13.

14.

15.

16.

17.

(@ Explanation/ @¥ “eTCe v Frergies omar e |
Recast 1 AT =11 [EACR |

According to the passage, which of the statements is false?

A. The educated people have always done heinous acts.

B. Education affects us in the way we intend to use it.

C. True education can guarntee ennoblement of our mind.

D. Ethics and humnaity are important catalyst using education
for noble purposes.

(@) Explanation// e X1ea <R <RI T AP FI& FC | (BT
false statement.

My uncle promised me a present. Choose the passive voice of
this sentence.

A. A present was promised by my uncle.

B. | was promised a present by my uncle.

C. I had been promised a present by my uncle.

D. | was promised by my uncle a present.

(@) Explanation// Past indefinite tense @F Active (¥ Passive
FACO R(A: Subject + was/were + vs + by + object

When | am online. | have liberty. The underlined word is
alan —.

A. adjective B. adverb

C. noun D. preposition

(@ Explanation/ Online XeTI Adverb | @TaTe e wg T A
SR e | R verh & @R T o @ TeR (ol (IS
Adverb 20T |

Choose the antonym of "healthy’.

A. Salubrious B. salutary

C. hygienic D. unwholesome

@ Explanation/ Healthy =¥ wrirgea | I@ o *mr
unwholesome-HIZ5<F4 |

The question is how he will respond. The underlined part of
the stentence is aj/an ——.

A. noun clause B. adjective clause

C. adverb clause D. prepositional clause

@ Explanation/ (FTCT Clause T4 complement € T 0 O
@15 Noun clause 2 |

Find the incorrectly spelt word.

A. etiquette B. nightmare

C. questionnaire D. menifestation

(@) Explanation/ Menifestation BT =1 | Af§F w9 Manifestation.

By the end of the meal, some people take a few glasses of
water. The underlined phrase is a/an —.

A. noun phrase

B. prepositional phrase

C. adjective phrase

D. adverbial pharse

(@ Explanation// @1 Phrase 5 &1 <rer 19 03 (IR | S
(@Il Phrase =& ¥ S (@RIT ©izeeT @16 Adverbial Phrase
N

What is the correct synonym of the word ‘indigent'?
A. poor B. wealthy
C. comfortable D. affluent

@) Explanation// Indigent i< ST | Synonym 2Tl Poor (1F19) |
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18.

19.

20.

21.

22.

23.

24.

25.

26.

It was ten to twelve. Most of the shops —— just closed.
A are B. have
C. was D. had

(@ Explanation// Wt AW Past tense @ %I | Sequence of
tense @ IR *=R<ST I/ Past tense TR | ToAR AFF Tea
(9 had |

Hridoy suggestd that his brother —— hard to get a good job.
A. work B. works
C. to work D. worked

@) Explanation/ Subjunctive verb &3 # that ARCT ATST verb
5 31=eTT base form @ 23 |

Homer describes a race of men who — from the gods.

A. spring B. sprang

C. have sprung D. were sprung

(@ Explanation// ¥ =1T® T ASICST o1 (TS Past tense «
FRE A |

She — wash the plates in the kitchen leaving her study.

A. needs not B. need not

C. needs not to D. need not to

(@ Explanation 7S (<% =itk Model verb o1 need not + v,

If Kalpana Chawla had not —— ardent desire, she would
not have become an astronaut.

A. had B. have

C. has D. to have

@ Explanation// 3rd conditional &= frig@d If I clause f&
Past perfect tense 3 @3k %% clause & would/ could/ might +
have + v3 T |

The factory turns —— fifty tons of fertilizer a day. Choose
the right word to fill in the blank.

A. out B. up

C. over D.on

@) Explanation/ Turn out- oW I |

Find out the correct sentence.

A. Entering the room. the light was off.

B. While walking in the garden, her leg was broken.

C. The boy received a crest with golden ribbons for his achievement.
D. Having crossed the street. a car almost struck us.

(@) Explanation/ Dangling Modifier @ @il w11 «¥ fonfs
312 Modify &ife g |

What is the meaning of the idiom ‘magnum opus'?

A. large building B. best work

C. last work D. longest way

(@ Explanation// Magnum opus 9% RC6CT SICT Frer widie best

work.

Which of the following is a countable noun?
A. furniture B. money
C. news D. headache

27.

28.

29.

30.

3L

32.

33.

34.

35.

(@ Explanation// Furniture, Money, news el uncountable noun
e headache 2t Countable noun |

What is the plural form of the word "alumna'?
A. Alumnae B. alumni
C. alumnus D. alumnas

@ Explanation// alumna 2oz Singular Number | @0 Plural 20

Alumnae.

Recourse —— arms is not the best solution to hostility
between countries.

A. of B. for

C.to D.in

(@) Explanation// (It R S<eTae it g Recourse of J5<R19 =7 |
Education enriches us—— knowledge and skills.

A.in B. with

C. by D. at

(@ Explanation/ (ITTT &R 71 w41 Wi Enrich with =19 =T |
Central —— Nazrul's rebellion was his rejection of social
hierarchy.

A. of B.in

C.to D. about

(@) Explanation// (It foger (e <el =ied central to <=® 7T |
The Pakistani rulers used weapons —— us instead of
defending us from external enemies.

A. with B. on

C. towards D. for

(@ Explanation/ (ST R FICAT @¥ita IRIT a1 =L use on 6T |

'Hemorrhage' is related to ——.

A. aviary B. health

C. fisheries D. apiculture

(@ Explanation/ Hemorrhage @ & | @F health @7 >
THES |

Which of the following words means ‘to emit a faint or

intermittent light'?
A. show B. splash
C. glimmer D. glare

(@) Explanation/ Glimmer =< = (Faint or Intermittent) et
RO |

Langston Hughes is a/an writer.
A. English B. Irish
C. Austrilian D. American

(@ Explanation/ Langston Hughes &&= ST i< |

In which of the following works do you come across the
character of Jerry.

A. A mother in Manville

B. Burmese Days

C. Manual of the Warrior of Light

D. The Old man at the Bridge

(@) Explanation/ A mother in Manville g <S5 sfstag w1 Jerry.
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sl Chapter 23-24 [ 23-24 ] 23-24 | 23-24 [ 23-24 | 23-24 ] 23-24 | 23-24 | 23-24 | 23-24 | 23-24 [ 23-24 | 23-24 | 23-24
Al B ] c|c]| D A | B D

01 | Basic Grammar - - - - - - - -
02 | Noun - - - - - - 1 -
03 | Number - - - - - - - -
04 | Gender - - - - - - - - - - -
05 | Pronoun 1 - - - - - - - 4 - -
06 | Adjective -
07 | Article -
08 | Adverb -
09 | Inversion -
10 | Degree of Comparison -
11 |Verb -
12 | Subject-Verb Agreement -
13 | Tense -
14 | Conditional Sentence
15 | Modal Verb 2
16 | Causative Verb -
17 | Subjunctive Mood -
18 | Right Form of Verb -
19 | Preposition
20 | Conjunction & Linkers 2
21 | Parts of Speech -
22 | Voice - - - - B
23 | Narrative Style - - - - - - - 3 - - - -
24 | Phrase in Details - - - - - - - -
25 | Clause in Details - - - - - - - - - - - - -
26 | Embedded Question - - - - - - - - - - - _ _
27 | Dangling Modifiers - - - - - 3 - - - - - -
28 | Sentence & Its Transformation - 2 - - - - - - 2 - - - 1
29 | Affirmative & Negative Agreement - - - - - - - - - - - 1 - -
30 | Parallelism - - - - - - - -
31 | Redundancy - - - - -
32 | Tag Question - - - - 2
33 | Pin Point Error - - - - -
34 | Completing Sentence 7 1 2 - 8
35 | Miscellaneous - - - - 5
36 | Comprehension - - - - 10
37 | Literature - - - - 1
38 | Figure of Speech - 1 - - - - - - - - - -
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24
r
L@

PART-01

Person & Number
B fifeg Sentence @3 Subject A1 Object € &y ST Person 3R ¢d 1fF | [Weoa (=T Siferil 148 03 e |

Singular Plural
Subject form Object form Subject form Object form

1st Person | me We Us
2nd Person You you You You

He him They Them

She her
3rd Person -

It it
Karim, Dhaka etc. Karim, Dhaka Karim & Salam Karim & Salam

&
¥® person & Auxiliary verb agreement

B (S @I person €3 =7 @IE! @Iear Auxiliary verb 367, o [Rifee a0 v (A3 198 63 77 |

Do auxiliary Be auxiliary Have auxiliary Shall/will
1st Person I do I did' lam I was I have | shall
We do We did We are We were We have We shall
2nd Person You do You did You are You were You have You will
They do They did They are They were They have They will
3rd Person He does He di_d He i_s He was He has He wi_II
She does She did She is She was She has She will
It does It did Itis It was It has It will

o Short form of Person & Auxiliary Verb

B S(FF 9 A6 he's @& person € Auxiliary verb 93 e F9 (TITS AN T | G2 he's @F T he has 71fF he is 7l
ToFE? I A5H IF FACS (Wb 2P0 YAF ICH (T |

lam=1I'm

'd = had =T Would [

You are = You're

I'd = | had 92T | would /=

They are = They're

You'd = You had 923t You would

's = is QT has R

They'd = They had =191 They would

He's = He is 93T He has

He'd = He had =<t He would

She's = She is 4T She has

It'd = It had @11 It would

It's = It is 92T It has

It'd = It had @11 It would

Here's, there's, that's & Let's

How's , What's etc.

Here's = Here is Who's = Who is
There's = There is Who'd = Who would
That's = That is I have = I've

There're = There are

You have = You've

Let's = Let us

You have = You've
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TITT.
Letter/Alphabet/Word

@ AFfos b 77T @I SEE =% o1t 27 ©itF2 Letter/ 3 797 270 |
afece AEET vt 3 aTR | A-z AF @3 3T Letter 9T © ©Ied 9@ | =1- Vowel, Semi-vowel, consonant |

20 Vowel

@ Fefestent fovees fcer Swifee 27 sitracs Vowel 36 Vowel 591G ¢f6 1 321- a, e, i, 0, u | STaey @, vowel =Sl (T *1%1 15 2re
ST A1 | QT SCAE F#ICS AT | shy, cry, fry, try QeTaTS o vowel (T2 | ST (S AT S#eel (F, Y (& e vowel F@TT = |

THRCT AT TLF G SCAR0] FIACIF o] SHI Y O ©ItE semi-vowel &1 = | @3- [w = double "U" =idie (U + U)]

[Y (e71R) = O +1]

@ et Vowel @3 ARy e Twifse 2@ ©itd Consonant J0aT | semi-vowel T8 consonant @3 C4F ATE [ | ALCNG
consonant &3 7T 2oz 86 | IR, a, €, i, 0, U AW A FAGTE |

£ Alphabet

(I O IZe (N6 e B Alphabet 3teT | @9 Becafece (G cefw 1T uf6 @R et o R @it 3 ¢oft | Alphabet
TS AL I s/es T G 0 |
B o {REw : fova Iefice A-Z %€ ub Letter 8 Stz | TMCF Pangram Je1 &7 |
1. The quick brown fox jumps over the lazy dog.
2. The five boxing wizards Jump quickly.
3. Pack my box with five dozen liquor jugs.
4. How quickly daft jumping zebras vex.
B &« o
1. 3EfER T Qred AR Upper case 6T (A, B, C.....) ¥R (RIG JTod Srwawteicd Lower case I (a, b, ¢, d......)
2. Letter =t® 936 Symbol 31 o2 | SiWeE Sitapater Letter Nt @G Alphabet tofd =371

50 Word

OF T GFIHF 0T TN =@ T G0 e W o4 @A word I =1 A- @F5, good- I, book- 32, slow- {E | S,
el AR 90T 9 (rewr e | S 1 TS SR (TetEIeE word < A W | @WS- koob | @ft wid faese w1 | @fbes AfSwei
Arerts 201 | w4R, Koob = Book | 93« (6 word TJ |
T OIS - -
Subject & Predicate

A y 4
@3B Sentence- @ TR THCH (FICAT 7R 9T 2 Il (@ (@A [Fg F¢3 ©ICF "Subject” At "doer of the action” IR “FS[” I |
Subject =t [T fFR ATfe Rl (16T 2, ©ICF "Predicate” SR “Read” I |
The subject is what (or whom) the sentence is about and the predicate basically tells something about the subject. (Si€fie,
"Subject" ZceT I F (I FF) FIF W3 Predicate 7S Subject 7™t 5 0T 1)
B o3 Sentence-«3 4w ufb Part :

(i) Subject (I 3#T© noun/pronoun)

(ii) Predicate (4f6 =T® verb) adjective, adverb, preposition, conjunction, Interjection fac aif5e)

4@ Subject 9T TR

/Capsule @ / 9% Subject & I1<T-
[ EXAMPLE |
(i)  Hesings a song. ("He" 2T subject, Jif& =iex Predicate)
(i) Honesty is the best policy. ("Honesty" 2t subject, s =ie= predicate)
(iii) They are playing football. ("They" &¢I Subject, 1% =i Predicate)
(iv) The baby is playing in the playground. ("The baby" 2Tt subject, i =& predicate)
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/Capsule @) / Subject & ACd modifier-
[o) EXAMPLE |

(i) Atalented person cannot do this.

(i) The old man is fainting with hunger.

(iii) Some people are wandering aimlessly.
/Capsule @) / 92 Subject/Compound Subject & -

[ EXAMPLE |

(i)  You and he have done the work correctly.

(i) Teachers and parents disagreed on the decision.

(iif) Mitu and Mina expressed their different opinions.

¥® predicate @7 TPTR

/Capsule @ / << verb Rf*2 predicate-
[ EXAMPLE |

(i) |saw everyone.
(if) They called me.

(iii) 1 agree with you.
/Capsule @) / 92 verb fRf*2 predicate-
[S] EXAMPLE |

(i) He talked to his father and solved the problem.
(if) He said to his students that there would be a chance the next day.

/Capsule @) / Compound sentence-4 33 predicate-
FS) EXAMPLE |

(i) Some girls are singing and some boys are dancing.
(i) I am saying something but you are not saying anyting.
B o
(i) "Predicate” grammar @3 JRSY WIC165 97, T W&y verb, object, complement, etc. At
(i) @ Sentence -9 major (241+) Part f251ta subject @ predicate- (& ST 27 |
(i) Parts of speech- €3 &SF noun/ pronoun IreTs SHFI FFe &F predicate- U7 TELS |
(iv) Imperative sentence @ Subject "You' S UTtF, G&y predicate "verb" BRI ¥F 1 |
s ves A
A y 4
B afs{ sentence 9 verb U IS | verb ToICI 0o 27 |
(@) Verb @G word-s (ot e At | @¥=-
1. Rafiq drives too fast.
2. They went there.
B 91T drives @ went 20 verb | T @35 @ word W tef | Wt qgE- @3 i@ word e Tefa verb =TSR &ICTT sentence
ag main verb R ACF | (@S-
1. He is a student.

2. | have a nice pen.
@4t verb is 8 have @aGa@ word e tofd | 2t & sentence 7fba main verb | @Ite 436 REw M AT wFR- =T

sqRered wify am/is/are/was/were/have/has/had @3t auxiliary verb. &€ W@ ey a3t 7™ &9 sentence @ I 07,
SIRCE ©4F O’ main verb RRETE e 76 |
(b) SR verb GifE word €8 o 2® A | GUF@ GF6 we*E =01 7Y auxiliary verb S =iy we=fGeF I=1 24 main verb |
@Te auxiliary verb Tl 2t- am/is/are/was/were/have/has/had.
1. Salma was watching television. (421t was auxiliary verb @ watching main verb)
2. Rony has gone home. (941t has auxiliary verb 8 gone main verb)
3. | have had lunch. (9%t have auxiliary verb @ had main verb)
QYT 37 JFLTS #1%5 T had main verb RETR I010R |
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> opea Al
A y 4
G35 FETITR @ BT T B9 I Wi A, (oxf @S English Sentence @36 e structure @3 17 fofe st oifvs =711 @3
structure 5 gts=- "Subject + verb + extension" |

©@, WS W I G36 wwH English AR Structure : "Subject + verb + object” | 7€ T Ffow T | @, @ A
(*ITT ®Y Object 2 IT 71 792 ¢F@ RT*T adverb, complement, etc. I |

<Z
¥®  What is Object?

Verb @& & (What) 3 F1t& (Whom) &i&T &% 03 (T 63 #1eql T1¥, (72 word/pharse T object |
@9- They gave me a flower vase. (ST SIE G0 Femif meaiee) |
A, T AT verb "give/gave" & AW SET “RF7 AT “HIE” 71T & FR-
» Itz Ml (gave?) T 2@= me (|WIE)
» & Meafest (gave ?) Tex =03 = a flower vase (9316 Femife)
SIRE, ot Aioee "me" @ "a flower vase" W52 object |
B S R : Object =BT A 10, ©F =32 noun/noun phrase/gerund/pronon €3 object form =¢J |
B Kinds of objects : Object 73 &3I3-
(i) Indirect object (1. O), Tl =T e @R |
(ii) Direct object (D. O), ¥ =R &rRfSFe RETE @RI |
©IgCE, TATER AT "me” 26 indirect object =1 "a flower vase" =g direct object |
B A E
@ JF7 9316 @ object A, St direct object I | 12 WIERMBH 2ce12 A1 indirect obejct ¥ IEAHF = direct object,
G SR (ATF (T T AMCS A |
[2] EXAMPLE |
(i)  Our teacher helped us. ("us" @=fG direct object)
(i) She speaks English. ("English" @G direct object)
(iii) The police told me the real story. ("me" @35 indirect object €32 “the real story" @3 direct object)
(iv) He sent the company a final mail. ("the company" «%fG indirect object €32 “a final mail" 3G direct object)

TS
Complement
y____/ y 4

S .
%®  What is complement?

/Capsule @ / Complement *itors =i " “fsja® " | sentence @ subject €= =<fe1a &=y verb @3 *itst @ word/phrase & 707 ©its
complement 3¢ |

Sreitd I W, A complement is a word, phrase or clause that is necessary to complete the meaning of an expression.
(Complement 2T G5 *, *Frete T IFTHT AT GH6 O/ AT 97 & ) |

[2] EXAMPLE |

(i) 1am happy. (St 3f+)

(ii) They are helpless. (SIFT 1R

(iii) Hasmot is a farmer. (RPTT® e FIF)

A, TARR oft IS TG happy, helpless a farmer 5t3a subject @t =< | = "happy, helpless ¢ farmer”
=TT complement |
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o
%®  Kinds of complements

B 3T S_EW S@E Complement 32 &7 :
(i) Subjective complement, T Subject 2f3re 37 |
(ii) Objective complement, It object G AT ICT |
B Subjective complement SRIF foF %17 :
(i) Noun complement
(ii) Adjective complement
(iii) Adverb complement

/Capsule @) / Noun complement : JCF noun/noun phrase 43 F& FC, noun- € *F5el 2[4 ¢ |
[ EXAMPLE |

(i) Heisadoctor. ("a doctor" noun phrase I =5 ¥ noun complement)
(if) She is anurse. ("a nurse" noun phrase I ==y ¥ noun complement)

(iii) jacky is a footballer. ("a footballer" noun phrase Jf =7 ¥ noun complement)
W S Itis |/ 1tis me, €% @@ pronoun W “ifS® complement |

/Capsule @) / Adjective complement : JtFT ajdective €3 Fler I |
o) EXAMPLE |

(i) She is happy. ("happy" *=fs adjective, S adjective complement)
(i) Honey tastes sweet. ("Sweet" =G adjective, SR adjective complement)
(iii) He feels relaxed. ("relaxed- &=ife" == adjective, S (adjective complement)

/Capsule @ / Adverb complement : 1t adverb 93 & ¢ | @ff AIere W, #ife 1 rpfaoraT 2fere wea AT |
[ EXAMPLE |
(i)  Stand still. ("still"==> adverb, ST adverb complement)
(i) He sang well. ("well" *=fG adverb, === adverb complement)
(i) 1 will be there. ("there" *<fG adverb, S adverb complement)

/Capsule @ / T¥7T (Subjective Complement) :
Fo] EXAMPLE |

"It always seems impossible until it is done."- Nelson Mandela
(@ fFg 1T 7 26 1S ©f o8 T 2T 1)

/Capsule @) / Objective complement : T1 T object - € =I5 |
(i) word/phrase as objective complement :
[ EXAMPLE |

(i) He has made me happy. €1t object "me" @ complement "happy"
(i) We appointed him our bodyguard. @2t object "him" @5 complement "our bodyguard".
(iii) 1 found him talking. @1t "him™ object €& complement "talking"
W TeeY @ G @ I Linking verb @t :
Subject © Complement @3 Tl =52 linking verb =3 |
Linking Verb = Am, is, are was, were, have, been, has been, seem- S &1 ; sound - *I% &A1 ; Remain- ¥ ; Taste- ¥M
(e ; Become- 93 5 Feel- Siged 1 5 Smell- iel/a1% (63l 5 Stay- (A0S e Appear- T#fEe el ; Run- #ifdes 2@
Go- 230 ; Turn- Sfee e ; Keep- 94T ; Stand- =<g« 41; Prove- SN =T; Grow- (I0T I |
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Object '8 Complement 3 SIS [Raae

Object Complement
(i) Object =1¢- 3% | (i) Complement =i<- =tz
(ii) Object 12 &SI (if) Complement JIKCG {16 &=l
(i) Object 79 4TS verb & “f6” A1 “SIes” ey e w1 T 1 | (iii) Complement &9 ¢Ft@ verb-& “f7” 1“0 M &) 1 AW
(iv) Transitive verb - @3 7 object IC7 (iv) Linking verb @3 #9 complement JCT |
(v) Object @5 It adverb e AR (v) Complement € #it=8 adverb IS AT |

TITTS.

A
P A AT At ILE@NT *CF Parts of speech I |

Parts of speech
A

O3 T T AT &P, water *[wLeE SN noun RETE 0y 201fF | @==- We drink water. @<t water & noun. 8 Jtw7
FIREE T3 fofs T @it verb-e 2CS 27 | @4- | water the plants. (S =T 911tz AT 2 1) QT water verb e I7e
Tz | SR A 7R A @IF word @I parts of speech ¥ 23 G fdfw Fawe =27 acw word 5 function FF &1
TP | @ N S i S 0 STEE |

B Classification of Parts of Speech : The name of Parts of Speech in English Grammar is 8. (2% J5isacet Parts of Speech
TR b GFA) |

B b &3 Parts of Speech-a3 e #iffofs :

1.

Noun : I, FIT I I@F T (@R |
@+ : Karim, Dhaka, book Zs7if7 |

. Pronoun : Noun-a3 #fs_cs I59z® *1 (&I_0T |

@: He, She, it Te7ifr |

. Adjective : Noun 3f Pronoun €3 (9, @, SIGg!, T, AR A &5 9% = |

@ : good, bad, some, many 2%t |

Adverb : @ word (19 verb, adjective, adverb or sentence (& modify St SItF adverb I |

@ : She is very beautiful. He walks fast. @it very @32 fast bz adverb.

Verb : @ word (I IS FACF AT ©ITF verb 0 |

@ : eat, walk, read 2e7ifw |

Preposition : & word GFT noun T pronoun €3 td I6T @ noun 3 pronoun U3 AT ACHI SIS *THR JCH 791 (ol
0 St Preposition I |

. Conjunction : & word 92 word 3T phrase 3T clause (& feT At 1<y (TR &= e 1 2 Ot Conjunction JeeT |

@- and, or, but, nor, since o5 |
Interjection : (@ word St SIS SACI T FC ©ItF Interjection I |
@%9- Alas! | am undone. Hurrah! we have won the game. @41t Alas @3 Hurrah (% Interjection.

P GFFAUT Parts of speech & b ST ARBT (o 74 |

Parts of Speech Short Description
Noun Naming word
Pronoun Substituting word
Verb doing or action word
Adverb modifying verb or other words. (except noun/pronoun)
Adjective qualifying word/describing word
Preposition showing how things, people & places relate to each other
Conjunction Joining word
Interjection express strong emotion & feeling
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‘ PART-02 ,

i< Conjugation of verb
A 4 A

SL.N. Present (V,) Past (V,) Past Participle (V3)
01. [Abide (¢ BeT) adobe adobe
02. |admit (RIa F4) admitted admitted
03. |Arise (To) arose arisen
04. |Awake (&) awoke awoken
05. |Be (am, is, are- ¥ne) was/are been
06. |Bear (317 340) bore borne
07. |Bear (& ¢53) bore born
08. |Beat (&= =40) beat beaten
09. |Become (Rs3) became become
10. | Befall (31eafo® zem) befell befallen
11. |Begin (¥ Q8 began begun
12. |Bid (mw cmea) bade bidden
13. |Bind (J«1g =41) bound bounden
14. |Bend (JI=ITAT) bent bent
15. |Bite (ISl bit bitten
16. |Bleed (F&T® 1) bled bled
17. | Blow (23R31N) blew blown
18. |Break (o) broke broken
19. |Breed (299 ¥90) bred bred
20. | Bring (SU) brought brought
21. | Build (et =) built built
22. | Burn (¢oeita) burnt burnt
23.  |Buy (¢3) bought bought
24. |Catch (€90) caught caught
25. | Chide (fszr= <) chid chidden
26. | Choose (97=% %) chose chosen
27. | Cling (CsTeor Q1<) clung clung
28. | Clothe (¢oIMII<s =TT clothed clothed
29. |Creep (ZrefS (rea) crept crept
30. [Carry (329 =) carried carried
31. | Dare (3= <) dared dared
32. |Deal (pf& =41) dealt dealt
33. | Die (73M) died died
34. |Dig (A99 =40) dug dug
35. |Draw (S ) drew drawn
36. |Dream (7 @4) dreamt dreamt
37. | Drink (*II< =41) drank drunk
38. |Drive (o191 <) drove driven
39. | Dwell (37799 =<1) dwelt dwelt
40. |Eat (¥he3) ate eaten
41. |Fall (vifo® zea) fell fallen
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SL.N. Present (Vy) Past (V,) Past Participle (V3)

42. |Feed (qneHtAD) fed fed
43. |Feel (973 F40) felt felt
44. | Fell (c=to ¢=F=) felled felled
45.  |Fight (= ¥0) fought fought
46. |Find (379 1) found found
47. |Flee (9@« F4T) fled fled
48. |Flow (291R ?8) flowed flowed
49. |Fly (%u) flew flowen
50. |Forbid (fcas =) forbade forbidden
51. |Forget (9CeT e forgot forgotten
52. |Forgive (=1 %) forgave forgiven
53. |Forsake (o5t %) forsook forsaken
54. |Found (%< <) founded founded
55. |Freeze (&(x q1s) forze frozen
56. |Gild (%< F40) gilt gilt
57. | Give (msa) gave given
58. |Grave (¢XMIg F4T) graved graved
59. | Grind (pef-fapef =) ground ground
60. |Grow (SIC/o1E ) grew grown
61. |Guess (S F40) guessed guessed
62. |Hang (CItT fog 3=TICAT) hung hung
63. |Hang (FIRTCe 3=Ticar) hanged hanged
64. |Hear (¢*1) heard heard
65. |Hide (=) hid hidden
66. |Hold (<) help help
67. |Keep (I kept kept
68. |Kneel (G ¢o1TT 1) knelt knelt
69. |know (%) knew known
70. |Lay (cICr fag ama, &1 #fer) laid laid
71. | Lie (Rfz® 21, =R <) lay lain
72. | Lie (Tt =) lied lied
73. | Lead (~fsoreEr %4T) led led
74. | Lean (XS (e leant leant
75. | Leap (sTfeey Beil) leapt leapt
76. |Learn (71 (e ) learnt learnt
77. |Leave ((=CT &) left left
78. |Lend (4% msA) lent lent
79. |Light (S=res) lit lit
80. |Loose (Toetr ===) loosed loosed
81. |Lose (=) lost lost
82. |Mean (i€ &M 1) meant meant
83. | Meet (ATFFIR 41) met met
84. |[Melt (/=T melted melted
85. |Marry (Rarz =) married married
86. | Misunderstand ($57 (II[T) misunderstood misunderstood
87. |Pay (oIfacits i) paid paid
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SL.N. Present (Vy) Past (V,) Past Participle (V3)
88. |Ride (X0 v%l) rode riden
89. |Ring (I Jree) rang rung
90. |Rise (€7 rose risen
91. |Run (o) ran run
92. |Saw (Far® WX FIelE F) sawed sawed
93. |See () saw seen
94. |Seek (c4fe F=41) sought sought
95. |Sell (ffeF =) sold sold
96. |Send (°MoTE) sent sent
97. |Sew (GTTIE F41) sewed Sewed
98. | Shake (Fer A/ 1iT) shook shaken
99. |Shine (5% v &) shone shone
100. |Shoot (&fet =) shot shot
101. |Show (W) showed shown
102. |Shrink (>1gfo® @) shrank shrunk
103. |Sink (%) sank sunk
104. |Sit (3°T) sat sat
105. |Saly (x5t =) slew slain
106. |Sleep (gt slept slept
107. |Slide (et 1) slid slid
108. |Smell (Frer ¢73M) smelt smelt
109. |Sow (I« 1) sowed sown
110. |Speak (I=1) spoke spoken
111. |Spell (II) spelt spelt
112. |Spend (¥<5 <<1) spent spent
113. | Spin (37T BT, CATSITAT) spun spun
114. | Spit (9 e spat spat
115. |Spring (=TT sprang sprung
116. |Stand (W@ICaT) stood stood
117. |Steal (pfs =) stole stole
118. |Stick (¢sTTet 91T stuck stuck
119. |Sting (38 AT, TeT (FIBICAT) stung stung
120. |Strike (<725 ) struck stricken
121. |Strive (531 F41) strove striven
122. |Swear (*1%/< F40) swore sworn
123. | Sweep (ITg 3A) swept swept
124. | Swell (F=1C) swelled swelled
125. |Swim (Te1F F/5T) swam swum
126. |Swing ((AET (7e3N) swang swung
127. | Take ((€0) took taken
128. |Teach (Rrmet ) towght towght
129. |Tear (fete cwet) tore torn
130. |Think (o=t %) thought thought
131. | Throw (Rcse=t =) threw thrown
132. |Tread (*mmfeTe 31) trod trodden
133. |Wake (S (2T o) woke woken
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SL.N. Present (Vy) Past (V,) Past Participle (V3)
134. |Wear (37 #ifa4iq %) wore worn
135. |Weave (¢ ) wove woven
136. |Weave (F1¢ ) wept wept
137. |Weep (I S sm) wet wet
138. |Wet (fote anear) wet wet
139. |Wind (°Ifecags =) wound wound
140. |Wring (A1, (TSIt wrang wrung
141. | Write (forar) wrote written
142, |Waid (S(cor=s <40) waited waited
143. |Wake up (Tie 283 woke up waked up
144, |Watch () watched watched
145 | Welcome (F1+1® &=ITAT) welcomed welcomed
146 | Worry (gsfoet =) worried worried
147. |Bid (=T wier) bid bid
148. |Broadcast ((TRbIT F41) broadcast broadcast
149. |Burst (Re#ize €57) burst burst
150. |Cast (cSIG ¢73M) cast cast
151. |Cost (¥90) cost cost
152. |Cut (Fo =) cut cut
153. |Hit (FTF5cev F4) hit hit
154. | Hurt (ST4re ¢w3) hurt hurt
155. |Let (Swfe @am) let let
156. |Put (ImT) put put
157. |Read (=%) read read
158. |Rid (= =<) rid rid
159. |Set (B9 F41) set set
160. |Shed (IMTITAT) shed shed
161. |Shut (35 <) shut shut
162. |Split (o <) split split
163. |Spread (RIt) spread spread
164. |Telecast (T2bIS F41) telecast telecast
165. | Thrust (JCF F41) thrust thrust
166. |Put (mT) put put

B Competitive Exam @3 & Common 2w fieas g Strong Verb @3 sifri-

Verb Past Past participle

Lay (f&sritei/arar) laid laid
Lie (¥ =10) lay lain
Lie (fr=r =) lied lied
Raise (Z31tT) raised raised
Rise (€31 rose risen
Bear (327 F410) bore borne
Drown (@19 Gifse &g #Aiface wea =T arear) | drowned drowned
Sink ((FItT o e A g Sfercar Are) sank sunk
Fetch (03T + e =teT) fetched fetched
Hang (=TIt hung hung
Hang (=7 () hanged hanged
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